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HFIMUARERA L SEFITHER., SMELNY "l NEESEARE.

KTHFEEE, MBRRHEEERTA?

The digital age represents a fundamental socio-economic and behavioral shift. Each
individual organization will view ‘the digital age’ differently.

Concerning digital transformation, what do all organizations need to consider?

A) BUEMBREEEAN AT R it e

How Agile and Lean practices can be used to respond to a commercialized society
B) Bk (BYOD) wMfAALARHRSHAERA (TCO)

How Bring Your Own Device (BYOD) can reduce the total cost of ownership (TCO)
C) RLNUNMEIREIRMRANF FARIRFIEEE

How organizations need to understand and utilize knowledge and data

D) EEXMAIARIMASIIEFEEIENR SN

How the advancement of the internet impacts the security of data stored
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R AT EE SEMHEMINERESER. T EERENEA BRI IS BEMISE
4f.

MERE (VSM) SHa#sENfth{i]?

An insurance company wants to define their consumer outcomes more clearly. They want
to understand consumer expectations and identify how things can be done better.

How can Value Stream Mapping (VSM) help them?

A) VSMLUBSRPRS SIS, HEME ZERIER, FRBIRHIFEERMFBIT T ARIRSS.
VSM compares the current state with a desired state, to determine the gaps between these
two and identify the deliverables and services necessary to provide desired outcomes.

B) VSMZMALAIENIFIR, MESWERNE, ERSELRAVERIRAMMIRIR.

VSM disregards organizational and divisional boundaries, and instead presents cross-
functional activities which show the flow of information and material between process steps.

C) BUARESEENIRENEHTZEIEEN, VSMEHEEE W SCIER BirfrEimai=(E.
VSM outputs help to define roles and responsibilities needed to achieve the organization’s
objectives, by examining how consumers define value and by reviewing each capability.

D) VSMIEH T —MrsaI8dzRalrsis, IERSRINERENENZR. REMRE.

VSM provides a disciplined, data-driven approach for eliminating variability, defects and
Waste that undermine consumer value.

ZiA % VeriSM™ Professional (VERISMP.CH) 6

VerisM™
Digital Trans formation

PROFESSIONAL




=%IN

3/30
HSERIE SN T AER R R E S TENIRSS |

- B—EEHRIRE, BTN EAREAGEIEY .
- EEERERY), TEHEHEMEFTEB, ARNEFRS.

B2, DRSBTS, AR LR, BERHENELaR TERIELRRR, MmETT
BEENS, CREEEIERELIR/NRE,

o/ w1y P e A A A iy Y
A car factory heavily relies on their printing service when dealing with their suppliers:

- When a load of parts arrives the invoice of the supplier is printed and attached to the
load.

- In the stock room the load is checked, the parts get a bar code and are registered in the
inventory system.

The printing service is getting out-of-date though and fails on a regular basis. The stock
room manager wants to reduce this Waste by allowing supplier access to the online
resources used by their staff, so suppliers can generate the bar codes themselves.

Which digital transformation approach is described here?

A) DEFASHIIERTAREBESHTE
A combined customer focused and future focused approach
B) ZEMIAZEF ASEREEREE
A combined operational and customer focused approach
Q) izE7IE
An operational approach
D) BIRTHENGIE

A future focused approach
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HIFREFHEE RN R R RBEDREFAREY, BN, AR sEE T B BSHERI SES.

REABTERITIEERHSFURENT R, ZIRTROMIRENEREEAR. fFLER4%E. €
. SR, EREATREE. AThRO—EERES: LIBREAFD.

ERDIX TR BE TR TR TR T A B RIS ?

True digital transformation involves the establishment and maturity of key capabilities,
without which sustained competitive advantage through continual transformation will not
be possible.

A large retail bank is preparing a digital transformation program of change. The bank's
strategic enablers include people, critical thinking, innovation, agility, information
technology and finance. These strategic enablers are missing an important capability:
consumer centricity.

What is the direct risk for the bank as a consequence of lacking this strategic capability?

A) BIERIBRSHMERHE

Creating services that have less value
B) HESFIMIAIDET N

Declining sales and market share
C) RHUREZERIRS

Delivering services with poor quality

D) fR/NHEEREMRTRIEE
Lacking consumer and employee trust
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REBEEFHRRIBARIRAIRFTA R IR, thSESIREAIBIRSAIEN, BTFtAssARE
WEER, KEAMRFAERENGRE, MRSHEARIIAR I,

ZRIEFEERSMH AT R EEAMEF53L?

A manager has excellent technical knowledge and insights in new developments. He leads a
team that provides internal services and often takes over to solve the team's problems, as
he has the highest level of technical experience. The team he leads is not performing as
well as expected.

What does the manager need to improve to help the team perform better?

A) EERISHSEIRAR R EI R FRAYRE

Communication skills and the ability to build strong relationships with team members
B) I RANFIRMRETS RIRAFIBAYEE

Digital awareness and the ability to understand the details of the technology involved
C) RIS HEMNERIRSS 2 LI B RIRES

The ability to prioritize digitalization initiatives for the internal services

D) ABRRRTIRHEFNHEREETERIFES

The ability to provide autonomy and room for self-management to staff at all levels

6/30
RPN ERRME, BPAFRIHE. BRRAFSEER—EME— b TIE, tiEsRE
hEFIBARL R ARIE T RS FHB. 9T EAIRITRIATD, BRI EEXUBIME.

PP—IR LR B PRI RS Z0?

A team has difficulty collaborating, although their individual work is great. The team
members do not always work at the same time and in the same place and they complain
that the other team members send them too many emails. For a strategic initiative to be
successful, they need to start collaborating more effectively.

What is the best way to increase collaboration in this team?

A) SUIEERIRAITIEAG, FmsIRENEXIESIN

Create a more positive work environment and force face-to-face meetings
B) REIMETRLSHHFEANER)

Have a collaboration tool installed to support the team's interactions
C) BEMER N TMERSIMET S

Increase collaboration behavior by prescribing how the team collaborates
D) BiBHBAMRMSIREN, FAERM(IZEBFEIRM

Invite the team to give feedback and ask them to change their routines
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RNBGBEHARERNAREFASNESERN, FEIRLIEREATOTE, MMSEIHKHEAE
K. MNNEEBHIAEXEATF N ANBRGEERT S,

BMEHBEEWX T X SRARNARER, BORET SEEK, AR SeliEis, HES
BT MERMERNS. XEGEIERRRIEYMINKR, EHEMR, BT SEEMY, F=23
RG4S,

LR SREN G ESSTRENTE?

The board of a small, paid social media app company has said it wants to be more
consumer centric, so they can achieve long-term growth. Their main model of business is
allowing individuals to do an in-app purchase that rids them of any advertisements.

Sales sees a good opportunity for growth by catering to the needs of advertisers, by
creating opportunities for subtle ads, even after the consumers purchased the ads-free
version of the app. This would create a whole additional revenue stream, and, according to
Sales, it would not negatively impact the user experience as the ads are very subtle.

Does implementing the subtle ads comply with the approach defined by the board?

A) B8, BN SEREENENER, JLUEATET KEFH,.
Yes, because the advertisers are valuable customers too and they will enable the company to
expand their customer base.
B) 28y, EAHRURI SREIENANE, SIERKEESSNEZRMSLII.
Yes, because the subtle ads will increase profits and achieving growth is an important priority
for the board.
) ~=2, FALUEEE AP ONLEN IRHIFEFIMERSS.
No, because consumer centric companies should only offer services which are not-for-profit.
D) A2, Ry WENREFL! SRARHZES.

No, because this is cheating the consumer that purchased the ads-free version of the app.
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REFRIESTHFWREZ P, MIAEREECHIRIN, MEETEEETLEDRIRFRSH
RS EE, —ERTEXKREHNARL. BRITERNNLIRAEIR SRR TERIFREIRSN.

XENMFERD?

A cinema is in the middle of a digital transformation. Instead of having their own projectors,
they are transitioning to leasing a LED-based projection service that they can pay for per
hour. Some of the employees are already familiar with the new system. The CEO proposes
to only let those employees who are familiar with the new system work with the new
projectors.

Is this a good idea?

A) B, AAXFERIENSUSEHRBAK, FRER, EatthiizSBiw.
Yes, because this allows the employees the opportunity to grow in their role and reach
business targets faster and cheaper.

B) Ef, EAXEFEATWENERAIMNME, HILIBERE SRR,
Yes, because this will create the most value for the business and costs can be minimalized by
reducing the workforce.

C) AR, ENFMERIEHFEZEEBFERMAR, FAOZIHBMNSRMEN (BFLF) .
No, because all employees need to be able to work with the new system and they should be
allowed to experiment alone (learning-by-doing).

D) 2, EAFNRREEHZFHEEERI AT TR A BERE BI#= U ieEL.
No, because knowledge can only help digital transformation when it is shared and enables
others to do their work well.
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RESETIEEHIT T PESTEL (Bia. &%, . B NRIHER) 2, ATHRmES
HISMEBEIZR. IRBI T JUMHRASAIAR TR, Ba Tt IRk EIEREDMRE.

XMER A EEW T EDMIES]?

An international consultancy agency has conducted a PESTEL (Political, Economic, Social,
Technological, Environmental and Legal) analysis to understand the external factors
affecting their business. Several emerging and prevailing technological practices were
identified that could benefit their service management capability and maturity.

In which EDM activity is this taking place?

A) Fh
Evaluate
B) S
Direct
C) =&
Manage
D) st
Monitor

10/ 30
—RIEEBRIMBENARATINREIECHFER LRFAP K. M EERRIINRS AEEE
W= m. IIREFBREAEERENERNHEITSWOTHH, LUESLH CHIEE.

B—IRSWOTHHTEERATEEXL ?

A large company selling posters and frames understands that they need to keep up with
the competition. They are investigating how added services can enhance their current
products. They decide to perform a SWOT analysis, with input from internal stakeholders to
substantiate their choices.

What is the main risk regarding the outcome of the SWOT analysis?

A) TEREEXREDHNRENFHEESE

Benchmark information about their market and their competition is unavailable
B) BXHmMZNEEEREEN, EEGRS

Benchmark information about their market is outdated and therefore misleading
C) 25N EXER R ENE NN

Stakeholders who participate in the analysis are subject to bias and subjectivity
D) 255 AIFImBEXRERMITRENER

Stakeholders who participate in the analysis do not represent the whole organization
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BUET EatNow NEBITEF R m. ERITRLAERE AIBIEAsThrm. BUS IEESKY
K. MBS —REFHNFSH. WEBEESRMHTRENRAEKR, AMEBETAERRS.

EEHNBEHANRENFR, E—XEAFRME WeBake, BITE (R, WeBakeAVEAE,
EE, fEIAMENERSRENFEHNERETL . WeBakeliE—zxxAZEB, TTLFE
EatNowiREr=8, MMEARFK10FRIRFRIEK,

B2, WREatNowIIEIBIN~8, AMHERETLANRS FEWESH~m. 5t WNREatNow
TeE®E|WeBake L, FIREIEINSAF - MANEHAA, ~, REFAEULEERZE, B
EatNowEBERRRESF, FS5WeBakeiH Tk,

EatNow5WeBake&HZFEBHA?

A baking factory, EatNow, creates frozen products for bakers. The bakers can finish the
product in their shops. The baking factory is looking to expand. They would like to merge
with a competitor. They have a steady stream of revenue from current consumers and a
large amount of savings.

One of the competitors that is interested in merging, is another baking factory WeBake.
WeBake is not doing well, because of their remote location. Therefore, they are forced to
either merge with a competitor, or sell their factory. WeBake has a large bakery factory,
which could help EatNow grow their output capacity, so they can keep up with increases in
demand in the coming 10 years.

It is unsure whether new customers can be attracted to buy the frozen products if EatNow
increases their production now. In addition, if EatNow switches entirely to the WeBake
factory, transport of frozen goods may become more expensive. However, despite these
potential issues, EatNow management decides to go ahead with the merger and enters into
negotiations with WeBake.

What does EatNow show by merging with WeBake?

A) XEZEED

A high appetite for risk
B) MBLASZEEIR

A low appetite for risk
C) TRAXBEDHT

A lack of risk analyses

D) fR/DXFERER
A lack of risk strategy
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RNBERRSREHBEBELKRBCHS. ZATERFINEKS | —MHNAZF. B2, ZEFE
KRRGHEEEMIRSINEE, HEMMNEREERSER. XMISERTE2REZIE.

RSB EHEREEEREF. XYEFERBEARNRSEERNMSE. RESEEFRNET
BLRNSRERER, NREAZEDRE.

YIRTES A, FRASEMERIRSIREERTS. FANELSEEREAIRIIHEES INZIIR
. SINFIOEER, IRSAIKEZIEERERS. — M ENARENGI R EEIEF, HFol
EBEEFINELUSTIREETIS INRSE, LMETLARRE L=,

EXFER TAAZIRH A AZN?

A small cloud service provider wants to grow their business. The company gets a great
opportunity to onboard a new and large customer. However, the customer requires a self-
service feature in the system, which allows them to adapt their service needs per month.
This opportunity expires in two weeks.

The cloud service provider has change management procedures in place. These procedures
have been developed based on the Service Management Principles of the organization. The
Service Management Principles are based on the organization’s need for a high level of
stability, with a low risk appetite.

If a change creates an issue, the deployment is automatically reverted to the last stable
state of the service. The team has difficulty introducing the highly desired feature into the
service. The service keeps reverting to the last stable state when introducing the new
feature. A team member suggests bypassing this change management procedure and
manually adapt the production environment to force the feature into the system, so they
can onboard the new customer in time.

What should be the recommendation in this situation?

A) KAMGIRER, LSHERXENSFHEA—MALRTFEL,
Bypass the procedure permanently, to support these kinds of opportunities and survive as an
organization.

B) EiMZRIIER, ERHICRECHIEREIEETY, XEAREAILIELSRE,
Bypass the procedure temporarily, but log it in a known-error database, so everyone is aware
of this exception.

) FxdiER, ERARSEERUZEIT ZERERTRE.
Do not bypass the procedure, but check whether the Service Management Principles allow a
way to get the feature live.

D) FediERr, FEMEFIERRERSTININEE.
Do not bypass the procedure and inform the customer of the inability to implement the
feature as requested.
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RARBBRS 7 — N T, SHEARPEEENNERE. XENERBATEIRARAS, N
MFSEARE T TRMGHITHSHPRIEESI.

PMHRERASTESHEMINSNE, YISREUTAFENE?

A large organization has set up a task force to map the most important value streams in the
organization. These value streams will be used to create an organizational portfolio, which
will help the organization to keep focus on what is important in an upcoming merger.
What must happen to ensure that the organizational portfolio is successfully implemented

after the merger?

MER7e, ETF—R
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1. EMWEFBRIRBERGER (KPI)

2. BREFNFHITINMERE.

3. BATEMEREEEIERASH.

4, SRS HRERTAIRRER,

1. Define Key Performance Indicators (KPIs) for the merged organization
2. Ask the merging company to do a Value Stream Mapping.
3. Incorporate all value streams in the organizational portfolio.
4. Brainstorm about possible governance strategies.

1

2

3

4.

1.

RRIRR AN EMEHEEREMKR ENES,

eIaFRIERNERE.

TRBIS R R NIRRT AU B IRFIRESD.

E NIRRT B S HERRIREESHIKPI,
Identify the differences in strategy between the two companies and the merged

organization
2. Map the value streams before and after the merge
3. Identify the resources and capabilities needed to support the new strategy and value
stream
4. Define KPIs tracking the transition and alignment with the strategy of the merged
organization.
1. BEMMERAES.
2, ERTHEEFHIEIRERIFTIRSS .
3. AR, MEXTHIRSIVRE.
4. GFAE, EERTNIIRE.
1. Integrate the two organizational portfolios
2. Brainstorm about possible new services for after the merger.
3. Monitor the ideas for new services during the merge.
4. Evaluate the new ideas regularly after the merger is completed.
1
2
3.
4.
1
2
3
4

B)

9]

D) 1. IsEmMELRRIIIEKPI,
. ENHCEFHERIFRINERR.
EEHLERBIRER CHNER.
HWEAHIEERRIRE.
. Monitor the existing KPIs in both organizations.
. Brainstorm about new value streams after the merge.
. Enable the merging company to set up their own value streams.

. Define the strategy of the merged organization.
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RHAIN A FEEE N EXEmm. MEREER 7 SRaBIRS, XE—TRifHEEE
2 ERIEERIRSS. W ERRIEEFRILHERET ShAmbrymE, (BEEEERHERIT AT

HEERH.

Hh—RZ B RER D ERI BRI A —IIRE, AIEHEEE—RKAE SEBHAIART &X.
X—IRZSEBFERRINEEK?

A new online marketplace allows consumers to buy from each other and sell their goods
online. The value stream map shows the currently available service, which is a simple service
that allows consumers to create advertisements. They are developing ways to allow a
consumer to make their advertisement stand out, but management is not sure which ways
will work for the consumers.

One of the team members asks for time to work on a feature that will allow a consumer to
make their advertisement appear larger than others, for a day.

Does this service fit the value proposition of the organization?

A) R2, RIS EERE R RIS,

No, because the new feature does not directly improve the currently available service.

B) ~2, AHNEEEANEET RIRSHIGI.
No, because the ways in which the services will be expanded are not yet clear for
management.

C) ZHY, FENHEBALRAIFTEENENIZE, LMRIELS.

Yes, because all initiatives by team members should be supported to keep morale high.

D) 28, EIREIRIFRENERNERAST &,

Yes, because the feature fits well with the proposed expansion of the organizational portfolio.
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AR TERS BER, TAESET. $IXIRSEE, RETJUEN, MAREFHEIEHT
BUEEMEIETTIE.

fEVeriSM™RE R R N AT S T BT ?

The printing service of a municipality is outdated and not functioning consistently. Several
improvements to the service have been suggested ranging from technology updates to
innovative methods of delivering the information.

How should improvements be handled within the VeriSM™ model?

A) FTEBUHEN IR, e, SETREHNERS), SEREERBSHITITME.
All suggestions for improvement should be assessed for impact to the service. After this, they
should either be cycled back through approval activities or be evaluated in relation to the
organizational portfolio.

B) FrERINHHEEMARDAEIMEEEM. KEMER, SIERSHEMASRLESHAR.
All suggestions need to be checked for compliance to local laws and regulations. When
approved, it is the responsibility of the team that created the service to implement these
improvements.

C) NZepl—ILuFE, EEETENHSUHAIRNG, FHHHFTEDRSAIETHIEITRIRE. ME— B ER
XN REFHR SR,
An assessment should be completed considering the impact of the suggested improvements
and to identify the cause of the printing service not operating as expected. A project should
be set up to address this cause and deliver the improvements.

D) HAMESGAESTLARITEENBEI TEEEMEERLE, B2, EXNATEARUXRAFHEREZE
EERNSHIA.
Any minor improvements can be handled directly by the IT capability through the change
management process. Major improvements require a business case and approval by the
consumer and by organizational leadership.

ZiA % VeriSM™ Professional (VERISMP.CH) 18
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R A BB E RN —TTIRSS, LITUERF AR,

—BRSLE, $SRERABHREIHERSHERERIAR R —LRBRIRXESSSR (KPI) |
INFTIRSSHOSE, LEoh, IR EETXNMHIEH—STERDevOps TIFT, MNENERARE
R ETIER.

BRI AR
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Management Practices

U ERHARERIME?

A railway company wants to introduce a new service to anticipate delays and inform
passengers about them.

Once the service is implemented, the organization wishes to measure the use of the service,
as well as some other Key Performance Indicators (KPIs) it is not using now, to see the
impact of the new service. In addition, they want to use this new project to further mature
their DevOps way of working from a single pilot to the standard way of working.

The Management Mesh looks as follows (see picture):

What type of view is this?

MER7e, ETF—R
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A) HERIE
Organizational mesh
B) IEABRTSMINE
Desired state mesh
C) EEDHT
Gap analysis

D) SEPAERRIE

Current state mesh

17/ 30

SIAET —IREHBETNFR. —BEFEMAiZIR, BIaEE— e R AR,
ZIRE R U EFARNF BT, ZNARFSFEICAEK. FARER. BeF.
HE IR T A EEMS BB LS a RIS T,
BRI XE BV eriSM ™R ?
A university has approved the development of an interactive intake program. As students
join the program, they are given access to an online software application that monitors
their study efforts and subjects. The application can be accessed via a laptop, tablet or

smartphone.

Evaluate the following plans for developing the organizational view of the Management
Mesh to support this new initiative.

Which plan follows VeriSM™ guidance?

HUSESCHE - Nl
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A)

B)

9]

D)

=%IN

- Bk, WERF. HNBTMEER, EAKAEN—ITEEZA A,

- EE, THMEESREN S L= BN E SRIEE e TLE,

- Afe, EEARNETESE,

- &fE, RETBIEFRA,

- Start with gathering information on assets, suppliers and budget because what is needed for
the plan might be already available.

- Next, assess the regulatory or legislative controls for such an activity and the operational
processes and tools in place.

- Then, capture current management practices.

- Finally, note the available digital technologies.

- B, HEIERATIEEN, HBRILIIE hAEMRIREEIERTLAEA BT O RIER,

- B, BRARNEESL,

- AfE, TREERAGEREHLE.

- &fF, WETIEMIRITRE.,

- Start with identifying the in-place technologies and architecture and make sure the large
amount of data that will be generated in this project can be processed and used for analysis
purposes.

- Next, progress to the current management practices.

- Then, identify the relevant regulatory controls.

- Finally, define the budget for each of the stages in this program.

- B, RpRWARFIEBITENNAR, LATHREFERERA.

-5, ITARNRERVETEE,

- RfE, WEADRFRBAEERISAL I TIENEK.

- &E, ADRFESMNFABLI SRR R ENE,

- Start with interviewing procurement staff and staff within the IT capability to understand
resources and available technologies.

- Next, IT staff should define the enterprise management practices.

- Then, question HR and Legal to discover current regulatory requirements.

- Finally, HR should check whether the culture in the organization needs to change.

- B, ICRERIARES, EANAERERASESHERENAE, A msrasemelsh
.

-EE, ZEAR (BRIRNAEFARAR) 8HER.

- RfE, EEEFI R ETESCR,

- &fE, WASDEEK,

- Start with making an inventory of the technological capabilities of the university because the
app will be the interface with the consumer and must be both functional and innovative.

- Next, capture information on human capabilities, specifically the app developers.

- Then, plot the current management practices in the picture.

- Finally, check the legislative requirements.
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RERIE—FFEM. A EFAARSSE LIETHNL, FHEIFEX. ATHREHEENT
X, FEEEARESNESHILE, XEHTHRINSRIITEEY, ITERIEBRMISRIERERI
LETIRMLR.

TEXFPER MR Z BN A?

An art gallery has been very successful in the past year. They own a website that runs on
their private server. This is becoming very expensive. To comply with consumer demand,
they need to accommodate more visitors to the website at any given time than is possible
with the current IT architecture. The IT manager proposes to move the hosting of the
website to a cloud provider.

What should be done before providing advice in this case?

A) 1. BEEESKWEIMES.

. WETIRSREEERPEITRMN.

. ERFRISHEERRK,

. Ask management for guidelines on outsourcing aspects of the process.
. Write a tender for cloud service providers to compete on price.

. Hire new staff to support the new technology.
HEEBETEWA TSR AN,

. EERTARRZA, SHARARRSHETTIE

BT HNAIFRARSS 28 Z BIRIP A HT.

. Ask other professionals in peer groups what they would advise.

. Look for ways to upgrade the current server, before changing to cloud.
. Make a cost-analysis between cloud provisioning and upgrading the server.

. BEERIMEREMEBRAES.
IHMEEB L EARROREBERET ZHIRNTEEREA.
. EEEENE, LIBESRS IR ZRESSE.
. Look at the value stream map and the organizational portfolio.
. Assess whether the art gallery staff is able to work with a cloud-based Content
Management System.
3. Look at the Management Mesh to decide if moving services to the cloud fits.
D) 1. HRT=KAK, BEERIX—UERDAE.
2, MAR=MRSREEIRMNTTZ=.
3. EIE—EERSHIFINMERE.
1. Study cloud technologies until the topic is sufficiently familiar.
2. Look into the offers of cloud service providers for pricing options.
3. Create a new value stream map that incorporates cloud services.

B)

9]
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RHMBERRZEEN NS ERIBIARNSIN. ZER B S SNt B IR RASAISCRAN SRS
HEIETT RAR—EE L.

M558 )RR, REMMAEEERAEIENEWE, MAILURERBIHETE. FARRIER
™, MFENETIESI, IRERES. E5501%5T, RENENES/IMESEMIERF, it
FrERAEFRERIERE. EEERT, SHNEEDERL, MIIEERRABRSTE.

EeIEEIEWEE, B—IRItRES SIS ARRETTE?

An external consultant has been invited to facilitate a meeting with a multidisciplinary team.
The objective of the team is to reach an agreement on the preferred approach when
considering and selecting practices and technologies in the construction of the
Management Mesh.

The input from Finance shows that there is enough investment budget, as long as there is a
solid business case for the chosen practice or technology. The input from Development
shows they would like to work in a different way and become more self-steering. The input
from Operations shows that the team does well in minimizing risks, which keeps all options
for technologies open. The input from Management shows that they prefer a technological
solution over a new management approach.

While creating the Management Mesh, what is the best approach to choose appropriate
management practices and technologies?

A) RRLEAARRTTE, BRI A LR RIS Sk R SFEH B TR A
A
Adopt a technology-based approach, because this approach responds well to business
challenges and drives the technology required to support digital transformation efforts.

B) ERESMAVEESE;, FARMEBRCIIEENT, RERHNEESSHGIMEIAIIMERITA.
Choose the latest management practice, because this has already proven successful in other
organizations, and ultimately the practice will shape team collaboration and behavior.

C) HTEXRDWT, FEALSWTERTRENFITHAER, ThFETECRARA T SMItE,

Perform an analysis of the requirements, because this analysis considers the capabilities and
expected outcomes, providing a variety of options when choosing a management practice.

D) ER&RFHAIRA, RAMSEEATLIBRMAEHERSMEZA, FERBIZRATURAEZE
PEAERAER MBS
Select the state-of-the-art technology, because financial management assures that the costs
are within budget of investments and that associated risks are minimized if this technology is
adopted.
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HIRITHREEFERFR/LN B RIMNFTEDRIRI TR AR FEAIIMKER, RS ERINEFHELLT
=BEK:

- WS TARMLAST LR R,

- EPEEA LR ERXIMKE,

- WATARIRRSRA.

- AT R — N FRAR R LAST R P AR B,

B — IR B X I IRSS?

A bank would like their customers to switch from printed bank statements to downloadable
statements within the next few months. The new service has the following high-level
requirements to make it successful:

- The IT architecture must be updated to support the digital transformation.
- Customers need 24/7 access to their statements.

- Privacy must be guaranteed.

- A mobile app must be developed to support the digital transformation.

What supports this new service best?

A) XTI BIRERITERY, IRITNARAHEZIRS, HIRAE.

This digital transformation requires changes in the IT architecture. The bank should look into
public cloud services to ensure the timeline is not exceeded.

B) XM CHRAEFEEIT LRI, 25, ESTIATATREARITTER T LREH S T30,
This digital transformation requires an evaluation of the current possibilities. After that, the
missing elements for success can be determined and supported.

C) XMHFHHLTERSHEREE. RITNEET —REETUATRARZERIE.

This digital transformation requires increased security of the data. The bank should hire a
company specialized in security to look into security measures.

D) XME R R TH A THIRAINEE. B, RN BRINI(FSRDevOps T1FS
Eto
This digital transformation requires rigorous changes in IT development. Therefore, the bank
should switch from what they are doing now to DevOps practices.
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IRt TravAgiBEY KB CRILSS. MIJERENTIBARIREEA. IR ERMATRKAINRT
tt. ATEIX—BR, e T OBl :

Bl — SN R LTS R E T .
BYEESVFRIRIKE, EERARFSHEL.
SMRE/NIFE I FEFLERETB D E.
FVFHBE R TEINT,

A wWN =
A

IR MRS EIERIEAT, TravAg s XRI FIEIR.
BBNRIRRE B TIRB SRR AR ?

A travel agency 'TravAg' wants to grow their business. They have been able to save a
significant amount of capital to invest. Their mission is to be a state-of-the-art travel
agency. In order to attain this goal, they have identified four strategic initiatives:

1. Create a mobile app to facilitate consumer bookings.

2. Diversify the target group by including teen group travels.
3. Merge with a smaller competitor to gain market share.

4. Allow self-service bookings by consumers.

While creating the current state Management Mesh, the currently available resources must
be assessed by TravAg.

Which question will help them identify the currently available resources?

A) XIS E ST ERAFER?
Do these four strategic initiatives fit the organizational need?

B) MR TAIRAKFEARE?

What is the level of technological skills of our staff?

C) mIZPBEMLES MRS ?

What products and services in the market space compete with us?

D) BRIUSESIH G iEBEE HREAME?

Which strategic initiative will yield the most value for the consumers?
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Wi AEIEEE, FRAEMBRE (BEMEHNIRE) LEfTaik. i8R
DevOps TR, XFERIFHEZARNMN, ATIRIEMIN, IFET ARBERAFEIMR
A, AL, NIFEEFFIRATRE, FEBEEABREEF AR FRITE.

BN EEMIEET T2 A SREREIRE?

An online gaming company wants to move to developing games that are accessible on all
devices, including all mobile devices. They want to change to a DevOps way of working,
which requires changing the organizational culture too. To be successful, they need to
extend their use of cloud technologies and virtualization. In order to do this, they need to
plan some budget for new technology and hire someone to ensure a smooth transition
during this digital transformation.

Which Management Mesh shows the desired state for this company?
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A consultant has her own online parenting consulting service. Parents can ask her anything
through a website with a form. She offers them either a training course sent by e-mail, or a
personalized series of video chats.

She has created the following desired state Management Mesh (see picture).

Which story for digital transformation fits most closely with this Management Mesh?
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Vet Ei#£% VeriSM™ Professional (VERISMP.CH)

Digital Transformation

PROFESSIONAL

29



=%IN

A) PRjEIRAEDevOps TIEAT, BEH T RMERATENETE)I, thAEESEHIN TS
I, AREAREISIENNE. B SIRTSRAE I,
The consultant adopts a DevOps way of working and wants to train herself in website
development and cloud technologies. By doing this, she wants to achieve new ways of
working without hiring anyone else to add value to her business. Doing all the work herself,
she is independent.

B) PE)AEEE /oM E1E)IERS, MRS MECATT RR_EEINSS, Altt, SFrRstiRsdE. Fit,
i REST (EFREURRPEAE) (GDPR) . WABE— M AARERITOIZ.
The consultant changes to an online training environment, so that she can easily personalize
and scale the online training business. In doing this, she will start processing data. Therefore,
she will have to comply with the General Data Protection Regulation (GDPR). She wants to ask
a website developer to build this for her.

C) FaERT B—amMELd KWsS, ZMIEHEREM D2, ALt REGIT) A, FERaERE
CRIZICRERIIFINR. I, REEEAS—FKEIRS 2 BWLHE)IIRE.
The consultant hires an additional consultant to expand her business. This consultant will work
online, so she will have to invest in training. The new consultant wants to work on her own
laptop and mobile phone. In addition, the consultant is buying new training content from
another consulting service.

D) MESRm—RATEH, FUARNEXMELINE. XERFADMTEI, KEWEmITFS. MO
AENEZ—EIEILVENFTABRIFRE, AT 7 —LEriada.,
The consultant merges with another company, so the company culture will have to change as
well. This new company is located abroad and works in a Lean way. The consultant will have to
do some training to fit the new company and she sets aside some of her budget and time for
that.
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1-2-Web R BIRIFAMESLERAIMuLER, MBS, A CERMLE, RIZHRILEE
htmigiphpt&Etr, ZFRTLUGEINERIER, HAILUSKESRIER.

—UEFPXIFRIEHIRE T RIER. RIRMEEHMNREUNMERERS. RIRATEN 5=
FIERUGHIXIE—E, MMSEIAENE. FiE X MENABNALILRIMGHINEEERS.

1-2-Web {2 T XFF A RuGEIRAITTEERTIZR.
oWl == i eSS NP e S

1-2-Web is a company that allows people to purchase a simple website template to build
their own website. The company does not host websites, but simply delivers the html or
php template for a website. Customers can either choose from existing templates or
request a custom template.

For a new custom template, one of the customers has clear requirements. The template
should work well with mobile devices and on all operating systems. It should be built in the
exact style of their current website, so it is a seamless make-over. A pre-defined number of
roles should have access to the content management system of the website.

A full list of requirements is given to 1-2-Web to develop the new website template.
Of which type of requirements gathering is this an example?

A) TEBIERIKE

Customized requirement gathering
B) ixftEsRitE

Iterative requirement gathering
C) BIRERIE

Template requirement gathering
D) fERmERIKE

Traditional requirement gathering
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RERVHSNEREIET SCHER AR R TR SIS VRAVAER TR, 155IRYEAR (loT) FIAEL
&, XXIFHMIE— N EARIGIEE(L.

AT DT ERPASIIERINS Z BRVEIE, BB RT NIRRT,
PR R E S TR D HT?

A manufacturer of heavy machinery wants to implement the technology to monitor and
predict maintenance needs of the produced machines, specifically Internet of Things (loT)
and Big Data. This is a major change of strategy for them.

To analyze the gaps between their current state and the desired state they first want to
focus on external environment influences.

Which model is most suitable to perform the gap analysis?

A) E5H7SHELE
McKinsey 7S framework
B) Burke-Litwint&#Y
Burke-Litwin model
C) Nadler-Tushmantz#Y
Nadler-Tushman model
D) SWOTH#T
SWOT analysis
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—HKEA/NEWRHERNEMRITREM IR RAEF RS . WSMIIEERT Eihs, FEEIR—
FANTF R, DT EETRIITARMEIET L. BEEAEEH TR ERBESS.

BREAHES, BLERBARNTE, BRREEESIET OEN AR TH SIRTIRIRA R
HEUCER, WEITSRAIBurke-LitwintEE!, A EMEEBEIFRIITTIL,

XS LIRS SR ABurke-LitwintRERS, $RITTT—SREAM?

An international bank supplying loans to small enterprises was an early adopter of digital
services. Now that they want to expand their market, they need to rationalize a range of IT
offerings. Included in the analysis are redundant IT organizations and data centers. Efforts
to integrate or consolidate the redundancies have had mixed success.

C-suite managers have concluded that a different approach is required. The aim is to match
future IT provision, including the data centers, with the bank's strategic developments. By
using the Burke-Litwin model, the C-suite managers expect they can better deal with the
changes.

When using the Burke-Litwin model for the above scenario, what should the bank do next?

A) EFTRBRTESINEM. TAFMEN
Get a better understanding of the beliefs, behaviors and values which are prevalent at the
bank

B) EiFith TR ERITAENI TR F BN AR
Get a better understanding of the individual performance criteria which operate in IT teams
within the bank

C) FEAth 7 RERITITHIBARBBRIR R FER S
Get a better understanding of the relationships and responsibilities within the IT teams of the
bank

D) SEiFit T RITESHNEBRRFHIER
Get a better understanding of the organizational systems and procedures which are prevalent
at the bank
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—FIRHHFHENARAFEREBINAREFEENR. ERlMER, QAFMETESHINAE
FAIRARRRRTT R, XFMGEIEFLE, BREE T L.

BFPITERERE—THERWRIRSLEARWER, IEELHHRSIEERIFREEK.
B BEERWBR SALRIRE—E?

A company that offers a digital wallet allows consumers to pay each other through the app.
During their start-up phase, duplicate applications and technology solutions were
deployed. This practice has now stopped, but some of the problems remain.

The CEO wants a sourcing policy that defines practices for sourcing decisions, rationalizing
services and managing uncontrolled growth.

What should be done to align the sourcing policy to the organizational strategy?

) - BIESESITIMUEHES R TTAMITaIAREECR,
- BT iR 0IRSS SR RN E R WFRES.
- BEABREFIRRIRAZ.
- WERTRRENINE. IZEIGEEX,
- Define a sourcing policy that will guide the behaviors and actions of staff as agreements are
made.
- Define sourcing expectations based on strategic goals and service management principles.
- Outline the selection and decision-making process.
- Ensure compliance standards, legal and governance mandates where necessary.
B) - S —niEERWSERIER A, SELESIERIMMEDT.
- EFRAEMIGIEREDK,
- TiEEREEME, BRERHBEELFEK.
- TRIEIRSS BRI B ER T RIGAIRINI TRt
- Create an official document covering the approach to sourcing, including specification
development and value analyses.
- Include legal and governance mandates.
- Implement a contract management process to ensure that the contracts meet the business'
needs.
- Create a rule book for purchasing, based on Service Management Principles.
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C) - HEENEEBEREEATRIEIT .,
- BOANBEHIE. MESFFIRFIRVERSRFEN.
- BIRE SRS EESRSSES, CIEENHEIT AR,
- BIXERSHERHEBCR, UREWSERK,
- Create a sourcing plan that defines operating policies and practices.
- Outline the responsibilities and activities for specifications development, value analysis and
negotiation.
- Create a process to redevelop the plan each time a new or changed service is considered.
- Redevelop the policy each time a service is changed to align it to business needs.
D) - HIEFMRAERWISHHEFRIRMBEBIR,
- IR BinH ERWEAE,
- BEAHHERIRRAIE,
- EBRENRY, RTEEHITEBRTREENHIEBR, URGWSEK,
- Create a sourcing policy that details procedures for the sourcing approach.
- Develop sourcing expectations based on the strategic goals.
- Outline the selection and decision-making process.
- Allow the CEO to own and redevelop the policy each time a service is changed, to align it to
business needs.

28 /30
FAEHIE T LA T RIWBER:

REBRFEE D HEZEZAIFK, HIARTEIAIREITENR. RENIRS. HHEHILTEREEE
FRIATFFEEL BT R, LB T AL EIRIE A R (R,

RRITTEETHNERIEESD. FRErAEIER,

I IEESHIRITIRSREME, IARESIFIRZHIEENEL,

RIERWEER, N SRR OIRIR?

A company has the following sourcing policy:

Obtain all supplies, equipment and services at the lowest cost, as long as they meet or
exceed the consumer’s needs. The more sustainable or socially responsible company must

be chosen to meet our own corporate social responsibility commitments.

The decision process is based on the capability, capacity and historical performance of the
supplier.

They are looking for a new cloud service provider, that will support custom changes to the
service quickly.

Which of the four bids should this company choose, based on its sourcing policy?

MBARe, ETF—R
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A) ARRHA:
- MRS
- IR X1 0FAL SREE
- R R EHCR
- SFERE MRS X
Vendor A:
- pricing is highest
- provides performance data for the last 10 years
- has excellent performance record
- supports several small low-opportunity communities across the globe

B) {HMFSB:
- B8
- STHEHN RS
- EX10FH7MSE, RESE/BISFEE-E
- SRR ER T SRR
Vendor B:
- pricing is second highest
- highest rating for support
- market leader for the past 10 years, although performance of the last few months is
questionable
- is under investigation for investing in weapons industry and slavery

C) Hmc:
- MTEER
- BESE
- RBSEIE, ERTHCERRGELANTIC
- BidTI1SO 9001TAME, {EE2idHE
Vendor C:
- pricing is second lowest
- has been in business for 5 years
- performance data are not available and customer reviews look like bought reviews
- ISO 9001 certification was achieved, but has since expired

D) #mzesD:
- TSR
- iR, BE—NEFIEERE
- ERAT BRI B 1A B &R K
- AR REEIMRITS
Vendor D:
- pricing is lowest
- is a new vendor, but the first customer is very satisfied
- has longest time-to-order and time-to-delivery of requests
- has a Green Seal for sustainability
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—RIREHTHEN AR ATHIE 7 LU ERRE:

E3FR, Bl EHE DGR LAF50%, HEEERS FIIFNE LA FIIE,

ZH1, HBRERORTERRE. W, TENFESENNL EEEMIRSS, EEEEESEN L
DEHERGAITE.

FRBINESREFMIATIE, IR,
XE— M IRERIILED?
A company that offers a new ride-sharing app has the following organizational strategy:

Within 3 years, we want at least 50% of the market share in ride-sharing, with at least a 4-
star average rating of consumer service.

Currently, consumers are complaining about the billing process. Furthermore, competitors
are creating new services on their websites by making it possible for consumers to share
online reviews of the ride-sharing experience.

The development team wants to work on the website first, because they feel that this is a
smaller project.

Is this a good choice?

A) B, BRAIRFFIIFRITHLARESTIBDER,
Yes. The competitors' actions must be followed closely to keep market share.
B) 2. EBAMAAKIER—VNEER, ATLUSHIIEAMNE.
Yes. The team feels the website is a small project, so it will add most value.
C) TR. BRIBERENMSERERIHIE.
No. The billing process should be brought in line with the consumers' expectations first.
D) 7~=2. BAN—oAZ, LAMBEiIeTLARBIRRRFA M),

No. The team should be split into two teams, so that they can work on both problems.
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RiimER A DRERE 1 SFRNTZRERTUSNERNSE. ATNSRSERRESEKE. &
BRIFEESESENEINRFNFEEERIEF.

RS, REBAILT LA 47" BHrERAIIARR:

- TEETHTRIEIRRIF AN D B HIERR

- IEREARFTEEAT PRGN, BT EVEEFRBNLN, SRE—RERRRRET .
- EEEANREPFIME

- FSARAREZ THERGRIS), SRETREHR

SABKR, AFERE T —RAEBUSTERISEF T, tiEEN PR AEERRE S E]
Gif. EFRBHEEXRIGEHE.

SRIREF NG R AT AR ?

A market research company wants to be an international leader in research within 15 years.
The strategy is to focus on growth. Management is preparing a promising merger with a
competitor which is located in another country.

Meanwhile at headquarters, the following issues impacting the Produce stage have been
identified:

- gaps in compliance with the new data protection regulation

- data collection systems need major upgrades to remain competitive. Due to enterprise-
wide testing, a large bid was recently lost

- the budget for the coming year is not clear to the managers

- a number of researchers have been trained in using new software, and as a result they
missed deadlines

On the bright side, the company has received a 5-star rating from a large government
organization which also promised to do their next large research with the company.
Customer satisfaction is at an all-time high.

Does the current Produce environment support the organizational strategy?

A) A2, ERNHFARMERMRASTERME 8
No, because testing the upgrades and working with new systems are seriously impacting
productivity.
B) ~2, BB KEETHEIERIFIENR.
No, because compliance with the new data protection regulation was not completed on time.
O i, ENEF#REERES, BFEERSIIEE.
Yes, because customer satisfaction is high and the government will do business with them
again.
D) 2, RAGFESEITIEILIR £/ MERSHISER.

Yes, because the merge preparation ensures that the Produce stage is in line with the strategy.
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HFIMUARERA L SEFITHER., SMELNY "l NEESEARE.

KTHFEEE, MBRRHEEERTA?

Th

e digital age represents a fundamental socio-economic and behavioral shift. Each

individual organization will view ‘the digital age’ differently.

Concerning digital transformation, what do all organizations need to consider?

A)

B)

9]

D)

A)

B)

9]

D)

2GR N N UL B VAN AL e

How Agile and Lean practices can be used to respond to a commercialized society
BH#ig%E (BYOD) aMEJRLARHRSUABEAA (TCO)

How Bring Your Own Device (BYOD) can reduce the total cost of ownership (TCO)
RN R EIRARANF FARIRFNEEE

How organizations need to understand and utilize knowledge and data

BB BRIMIInEFESEN T 2T

How the advancement of the internet impacts the security of data stored

HixR, HRMNIZAEBFENXE (PlngEansm)  BAKRBREAMIRAIHIEE (XK
REEREMN) . EIESHIRXT "WE" B8, MXFEEEENERITR.

Incorrect. An organization should not consider only specific practices (like Agile or Lean), as
there are many to choose from (and they are always changing). This is more of a ‘how’
consideration, which will need to be addressed in the Management Mesh.

IR, SARMESN, 5S—MEREXRN (HIUIBYOD) HReSEMANELTXR. B, RXE
TCORGNIFIIAIE RS R FEMXEEE.

Incorrect. Technologies change all the time and what is relevant for one organization (like
BYOD) may not be relevant for all. Also focusing on TCO only is narrowing the generic
considerations and concerns of the digital age.

I, XREAERENESERT— (ERTHEER, NMORBAMRASSEE) . O A,
SE2.25)

Correct. This is one of the considerations for digital transformation (for all organizations,
regardless of technology or practice). (Literature: A, Chapter 2.2)

iR, BORN (WNEEW) REESRM, 5S—MEREXANAIRESEMARELRR. B, AXER
EURE/NFIHRNE RS BERNX T EE.

Incorrect. Technologies (like the internet) change all the time and what is relevant for one
organization may not be relevant for all. Also focusing on security only is narrowing the
generic considerations and concerns of the digital age.

ZiA % VeriSM™ Professional (VERISMP.CH) 39

VerisM™

PROFESSIONAL



=%IN

2/30
R AT EE SEMHEMINERESER. T EERENEA BRI IS BEMISE
4f.

MERE (VSM) SHa#sENfth{i]?

An insurance company wants to define their consumer outcomes more clearly. They want
to understand consumer expectations and identify how things can be done better.

How can Value Stream Mapping (VSM) help them?

A) VSMLUBSRIRESSIEBRRTS, HEME ZERIER, FRBIRHIERERAFRAI I pSRFIARSS.
VSM compares the current state with a desired state, to determine the gaps between these
two and identify the deliverables and services necessary to provide desired outcomes.

B) VSMZMALANERIFIR, MESWERNE, ERSELRIVERIRIIIRIR.

VSM disregards organizational and divisional boundaries, and instead presents cross-
functional activities which show the flow of information and material between process steps.

C) BUARESEENIRENEHTZEIEEN, VSMEHEEE W SCIER BirfrEimai=(E.
VSM outputs help to define roles and responsibilities needed to achieve the organization’s
objectives, by examining how consumers define value and by reviewing each capability.

D) VSMIEH T —MrsaI8dzRalrsis, IERSRINERENENZR. REMRE.

VSM provides a disciplined, data-driven approach for eliminating variability, defects and
Waste that undermine consumer value.

A) EIR, VSMERTEENENE, MARIIHEEEMAI TR,
Incorrect. VSM shows how value is created, not how gaps and deliverables are identified.

B) IFffs. VSMIZEREZEMINERT, BIHENERETRIISSMONENESR, TEITMAELLRFER
IR,  (OZ#k: A, $8.3.15)
Correct. The most significant value of the VSM technique is that it totally disregards
organizational and divisional boundaries by assessing how value is created from consumer
request to fulfillment. (Literature: A, Chapter 8.3.1)

C) tHiR. VSMERTUEENENE, MARITHRERBEMSE.
Incorrect. VSM shows how value is created, not how roles and responsibilities are defined.

D) iR, X2/ PO (Six Sigma) MAmEREDIERIEN.

Incorrect. This is a definition of Six Sigma and stakeholder mapping.
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HSERIE SN T AER R R E S TENIRSS |

- B—EEHRIRE, BTN EAREAGEIEY .
- EEERERY), TEHEHEMEFTEB, ARNEFRS.

B2, DRSBTS, AR LR, BERHENELaR TERIELRRR, MmETT
BEENS, CREEEIERELIR/NRE,

o/ w1y P e A A A iy Y
A car factory heavily relies on their printing service when dealing with their suppliers:

- When a load of parts arrives the invoice of the supplier is printed and attached to the
load.

- In the stock room the load is checked, the parts get a bar code and are registered in the
inventory system.

The printing service is getting out-of-date though and fails on a regular basis. The stock
room manager wants to reduce this Waste by allowing supplier access to the online
resources used by their staff, so suppliers can generate the bar codes themselves.

Which digital transformation approach is described here?

A) DEFASHIIERTAREBESHTE
A combined customer focused and future focused approach
B) ZEMIAZEF ASEREEREE
A combined operational and customer focused approach
Q) izE7IE
An operational approach
D) BIRTHENGIE

A future focused approach

A) EIR, HFULHNEASE, MARUEFRASE, BEIWAFTERASEEIFEHILSS.
Incorrect. The digitalization is focused on the supplier, not on the customer and there is no
need for radical innovation or disruption of the business.

B) iR, HFULMMNEASRE, MARUEFRASE,

Incorrect. The digitalization is focused on the supplier, not on the customer.

C) IEfs. XMERFTERRIZETE, BRIRBHNBIRESFN. Ol A, $38)

Correct. This requires an operational approach. The aim is to digitalize the process with the
suppliers. (Literature: A, Chapter 3)

D) &R, AHERAEEIFEHBILSS (BIRTARKRITE) .

Incorrect. There is no need for radical innovation or disruption of the business (future focused
approach).
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HIFREF U ENS R R RBEDRUEFAAImEY, BN, AT sEE e B ESREERRIR SILES.

REABTERITIEERHSFURENT R, ZIRTROMIRENEREEAR. fFLER4%E. €
. SR, EREATREE. AThRO—EERES: LIBREAFD.

ERDIX TR BE TR TR TR T A B RIS ?

True digital transformation involves the establishment and maturity of key capabilities,
without which sustained competitive advantage through continual transformation will not
be possible.

A large retail bank is preparing a digital transformation program of change. The bank's
strategic enablers include people, critical thinking, innovation, agility, information
technology and finance. These strategic enablers are missing an important capability:
consumer centricity.

What is the direct risk for the bank as a consequence of lacking this strategic capability?

A) EIERIIRSINERFE

Creating services that have less value
B) HESFIMIAIDET N

Declining sales and market share
C) RHUREZERIRS

Delivering services with poor quality
D) fR/NHEEREMRTRIEE

Lacking consumer and employee trust

A) IFtfs. AUABBREAPO, BAEEFRBERBNMEWNSHIBR MRITFRMRS. XERDLIERE
AFORIBENRER. (NEk: A, 378, E4)
Correct. Without consumer centricity, services will not be designed and delivered with the
consumer view of value in mind. This is the consequence of missing the consumer centricity
capability. (Literature: A, Chapter 3.7, figure 14)

B) iR, XEMORIOIFENNER, LR, HEFHIHHHI NETEERIEREADON (5
) REER, BXAREERER.
Incorrect. This is the consequence of missing the strategic innovation capability. Of course,
declining sales and market share could be the (indirect) end result of a lack of consumer
centricity but it is not a direct consequence.

0) iR, XRRVEHIZERINER,
Incorrect. This is the consequence of missing the operational excellence capability.

D) iR, XEHRORSHIABEIMLER,
Incorrect. This is the consequence of missing leadership and governance capability.
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REBEEFHRRIBARIRAIRFTA R IR, thSESIREAIBIRSAIEN, BTFtAssARE
WEER, KEAMRFAERENGRE, MRSHEARIIAR .

ZRIEFEERSMH AT R EEAMEF53L?

A manager has excellent technical knowledge and insights in new developments. He leads a
team that provides internal services and often takes over to solve the team's problems, as
he has the highest level of technical experience. The team he leads is not performing as
well as expected.

What does the manager need to improve to help the team perform better?

A) EERISHSEIRAR R EI R FRAYRE

Communication skills and the ability to build strong relationships with team members
B) I RANFIRMRETS RIRAFIBAYEE

Digital awareness and the ability to understand the details of the technology involved
C) RIS LHEMNERIRSS 2 LI B RIRE

The ability to prioritize digitalization initiatives for the internal services
D) ABRRRTRHBEFNHERETETRERIAE

The ability to provide autonomy and room for self-management to staff at all levels

A) IR, XMEEH ARSI EERRXLREE.
Incorrect. The scenario does not indicate any special need for the manager to develop these
skills.

B) iR, KECKERTIXERKEE, FHERETT.
Incorrect. The manager already possesses these skills and does not need to develop them.

C) iHiR, AHRSHANREE, RIMLTINFZHIBNEENEFMLL. B2, XAEHREPRZE
ERHER, XNF B RFIEREZ .
Incorrect. Digitalizing internal services is important, as is the ability to prioritize the projects.
However, this does not solve the lack of autonomy in the team, which creates the problems in
the scenario.

D) IFffs. XR—IEENEE, FFERTHREREMABITERSPIEFINR. REREFENRSE
. Bk A, 5438)
Correct. This is an important skill which is particularly applicable in the digital age where
organizational structures are much less hierarchical. The manager does not give much
autonomy to this team. (Literature: A, Chapter 4.3)
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KA RN, BEPAFRIHE. BRRARSEEE—REMNE—tbaTIE, tiERE
bR R AIE T RS TR, T IEREITRIAT, (IR EFRERRUBIME.

Bp—IE X A M BRI BRAE 5 207

A team has difficulty collaborating, although their individual work is great. The team
members do not always work at the same time and in the same place and they complain
that the other team members send them too many emails. For a strategic initiative to be
successful, they need to start collaborating more effectively.

What is the best way to increase collaboration in this team?

A) SUIEERIRAITIEAG, FoEsRENEXIESIN

Create a more positive work environment and force face-to-face meetings
B) R&MMETRLSHFHANER)

Have a collaboration tool installed to support the team's interactions
C) BEIAER N TMERSIMET S

Increase collaboration behavior by prescribing how the team collaborates
D) BiBHBAMRMHSIREN, FAHERMINZEEBFEIRM

Invite the team to give feedback and ask them to change their routines

A) iR, BIERRNTEMRRUERY, EAERRSFM. BERAENDREHASEIEEFMRAIIA
5. B, ERELCEFHEESHN. SXRIMMELE.
Incorrect. Creating a positive working environment is a necessary, but not a sufficient
condition. Forcing a team to come into the office will not create a more positive environment.
In addition, a collaboration tool that is more effective and efficient than email is necessary as
well.

B) IEff. WMETERAMEETEMME, 1EHBRESM, BUMEERIINNE, TISEEENZEMITRE
fF. EX—5Yd, TENRIFIBLHNEE. ENENELEIGIME. (8t A, 556.65)
Correct. A collaboration tool can really help this team to start working together by providing
or working towards collaboration in documents, increasing emotional communication and
streamlining all information and conversations. In this scenario, communicating well at a
distance is especially important; the team cannot collaborate well face-to-face. (Literature: A,
Chapter 6.6)

) iR, RESFENTFHANESEI IROZMHA, ERTTAERIMELN.,

Incorrect. It is not possible to increase collaboration by just telling a team to start
collaborating or by prescribing what they should do.

D) iR, EXMARPAFTELZARIRM. REBBENEHNIRE LTSGR, EMFLESE
BrIRELLAZ 5,

Incorrect. In this scenario, there is no need to change routines. Although asking the team for
feedback could be helpful, a collaboration tool is much more likely to benefit this team.
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RONBNBEHRERNAREFASNESSFR, FEIERLIEREATOTE, MMSEIHKHEE
K. INEZERIAEERRIF D ANRRMSEER S,

BIEHEZREMSL T ol SRARINARER, BERET SERFR, A St HES
BT ERMERIS. XEGEIERRRIEYMINKR, EHERRR, BT SEEMY, F233
RG4S,

LR SREN G ESSTRENTE?

The board of a small, paid social media app company has said it wants to be more
consumer centric, so they can achieve long-term growth. Their main model of business is
allowing individuals to do an in-app purchase that rids them of any advertisements.

Sales sees a good opportunity for growth by catering to the needs of advertisers, by
creating opportunities for subtle ads, even after the consumers purchased the ads-free
version of the app. This would create a whole additional revenue stream, and, according to
Sales, it would not negatively impact the user experience as the ads are very subtle.

Does implementing the subtle ads comply with the approach defined by the board?

A) B8, BN SEREENENER, JLUEATET KEFH,.
Yes, because the advertisers are valuable customers too and they will enable the company to
expand their customer base.

B) 28y, EAHRURI SREIENANE, SIERKEESSNEZRMSLII.
Yes, because the subtle ads will increase profits and achieving growth is an important priority
for the board.

) ~=2, FALUEEE AP ONLEN IRHIFEFIMERSS.
No, because consumer centric companies should only offer services which are not-for-profit.

D) AR, FE/uiXHIR ¥ WL FREFTT) ShAREZESE.

No, because this is cheating the consumer that purchased the ads-free version of the app.

MBR7E, ETF—R
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iR, RErSENHEEEF, ENBAEFNGEEEWVSRKETNARGEERR &, HiEEEEN
BFRLEEMATIEERIR, REBTEER.

Incorrect. Although the advertisers are indeed customers as well, the app generates most of
their business from the in-app purchase to not have any advertising. Cheating the most
important customers ensures that the company will get a bad reputation and will ultimately
not survive.

AR, UEFPAPOREUKERE T AR S KA R Z PROKHRX.

Incorrect. Consumer centric businesses will never increase short-term profits at the risk of
losing customers in the long run.

HiR, —HAFEFMATEURERUNBEREE AP ORI, BER, LIEEE AP OB AR—EIFEF),
Incorrect. Some non-for-profit companies may be consumer centric businesses. However,
consumer centric businesses are not necessarily not-for-profit.

I, LUBBREAPONEWNERKTERE, FERANKREWIL, SRANEERSE. BRI
REESHER. (8 A, 53.98)

Correct. In consumer centric businesses, the focus should be on the long term. The main
stream of profit comes from the consumer buying the no-ads option. Cheating them will
backfire in the end. (Literature: A, Chapter 3.9)
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REFRIESTHFWREZ P, MIAEREECHIRIN, MEETEEETLEDRIRFRSH
RS EE, —ERTELREHARS. BREMTERNNILIRAEINRIHIR TIREREIRSL.

XENMFERD?

A cinema is in the middle of a digital transformation. Instead of having their own projectors,
they are transitioning to leasing a LED-based projection service that they can pay for per
hour. Some of the employees are already familiar with the new system. The CEO proposes
to only let those employees who are familiar with the new system work with the new
projectors.

Is this a good idea?

A) B, AAXFERIENSUSEHRBAK, FRER, EatthiizSBiw.
Yes, because this allows the employees the opportunity to grow in their role and reach
business targets faster and cheaper.

B) Ef, EAXEFEATWENERAIMNME, HILIBERE SRR,
Yes, because this will create the most value for the business and costs can be minimalized by
reducing the workforce.

C) AR, ENFMERIEHFEZEEBFERMAR, FAOZIHBMNSRMEN (BFLF) .
No, because all employees need to be able to work with the new system and they should be
allowed to experiment alone (learning-by-doing).

D) 2, EAFNRREEHZFHEEERI AT TR A BERE BI#= U ieEL.
No, because knowledge can only help digital transformation when it is shared and enables
others to do their work well.

A) EIR, BERANETR TN AMEEI S,
Incorrect. Policies should not be based on how individual employees can grow in the business.

B) &R, HAOBMAOARRER, FREATIT. XMRIREITSRKRIAIXEEITNIER.
Incorrect. Reducing the workforce is not a goal and may not be feasible. There is no indication
in the scenario that this is preferable.

C) EiR. REWRMERTHBHRFULRNEN, ERBLELENIEZ. tIITUEEMRKRTE
3, MEMRTNS=ESHIRNR,
Incorrect. Although it is probably wise to ensure that all employees can work with the system,
there is no need to let them figure it out on their own. They can learn from the other
employees and those employees should share their knowledge.

D) IEffs, EAEECEEEY, WRSEiE—DUNIREERECR, BB RIHILBREFSMASHRRIE
B, AEFRZARILIS K. (XE: A, $7F)
Correct. A knowledge management policy that enables all employees to access the
information they need in order to work with the new system, and maybe ask for help when
they need it, must be implemented to make this a successful digital transformation.
(Literature: A, Chapter 7)
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RESETIEEHIT T PESTEL (Bia. &%, . B NRIHER) 2, ATHRmES
HISMEBEIZR. IRBI T JUMHRASAIAR TR, Ba Tt IRk EIEREDMRE.

XMER A EEW T EDMIES]?

An international consultancy agency has conducted a PESTEL (Political, Economic, Social,
Technological, Environmental and Legal) analysis to understand the external factors
affecting their business. Several emerging and prevailing technological practices were
identified that could benefit their service management capability and maturity.

In which EDM activity is this taking place?

A) Fh
Evaluate
B) S
Direct
C) =&
Manage
D) st
Monitor

A) IEffs. PESTELSHTRXFMEIAISNBEZRATITAL. EHEMER, ATLABERTRAYSERELAE RIS
m. (XL A, 5510.55H15510.65)
Correct. A PESTEL analysis is an evaluation of external factors affecting a business. And in the
Evaluation stage emerging practices can be identified to benefit the business. (Literature: A,
Chapter 10.5 and 10.6)

B) &R, ISSMERGESCGRIBINEER. AR, RSEERFRNERELNERZK.
Incorrect. In the Direct stage strategies and policies are defined. Also, the Service
Management Principles are shaped in this stage.

C) iHiR, EEAZEDMERIFRITTER, FEEDMEHEEHITEIE,
Incorrect. Manage is not an element in the EDM model. Management is done in all EDM
activities.

D) &R, WEAHRNAZSEN. Bir. BERIITHIRE L

Incorrect. Monitor ensures continual alignment to goals, objectives, policies and plans.
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—RIHESRMBEN AR ATIARZIECTER LRSS K. IEEAFRMINRS INAEEE
MEFR. IREFRREFZBXENENHTSWOTSHT, LUESLE CYERE.

B—IESWOTOHTERINEE XL ?

A large company selling posters and frames understands that they need to keep up with
the competition. They are investigating how added services can enhance their current
products. They decide to perform a SWOT analysis, with input from internal stakeholders to
substantiate their choices.

What is the main risk regarding the outcome of the SWOT analysis?

A) TFKEEXRENZRENFHIEEER

Benchmark information about their market and their competition is unavailable
B) BXHmMZNEEERETN, EEGRS

Benchmark information about their market is outdated and therefore misleading
C) S5 HANEEXEZEUAENZ NN

Stakeholders who participate in the analysis are subject to bias and subjectivity
D) £55AIFImBXREMIFRENER

Stakeholders who participate in the analysis do not represent the whole organization

A) EIR, XEHTSWOTHHTIERERRE— NI, (ERUBTRIEEEHENAIRINS SEBRZE
@0
Incorrect. This may be an issue when doing a SWOT analysis, but the problem can be
eliminated by inviting participants with the right knowledge.

B) &R, XEFHTSWOTHHETARERR—NEE, EEFLIEBTBEEEHENANIRINSSERRIZIE
@0
Incorrect. This may be an issue when doing a SWOT analysis, but the problem can be
eliminated by inviting participants with the right knowledge.

C) IFfa. 5&TESRECHNERESFRS, RFESCHERINXG, (O8t: A, 510.6.28)
Correct. Participants may see the organization as they wish to see it and thus there is a risk
that the conclusions are wrong. (Literature: A, Chapter 10.6.2)

D) iR, E5FTARAR, BN THEREEFRIIRS. miHilRENF.

Incorrect. Participants do not have to represent the organization, they have to know the
organization, its products and services, market and competition.
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BUET EatNow NEBITEF R m. ERITRLAERE AIBIEAsThrm. BUS IEESKY
K. MBS —REFHNFSH. WEBEESRMHTRENRAEKR, AMEBETAERRS.

EEHNBEHANRSENFR, E—XEAFEHE WeBake, BTE(RE:, WeBakeAVEAE,
EE, fEIAMENERSRENFEHNERETL . WeBakeliE—zxxAZEB, TTLFE
EatNowiREr=8, MMEARFK10FRIRFRIEK,

B2, WREatNowIIEIBIN~8, AMHERETLANRS FEWESH~m. 5t WNREatNow
TeE®E|WeBake L, FIREIEINSAF - MANEHAA, ~, REFAEULEERZE, B
EatNowEBERRRESF, FS5WeBakeiH Tk,

EatNow5WeBake&HZFEBHA?

A baking factory, EatNow, creates frozen products for bakers. The bakers can finish the
product in their shops. The baking factory is looking to expand. They would like to merge
with a competitor. They have a steady stream of revenue from current consumers and a
large amount of savings.

One of the competitors that is interested in merging, is another baking factory WeBake.
WeBake is not doing well, because of their remote location. Therefore, they are forced to
either merge with a competitor, or sell their factory. WeBake has a large bakery factory,
which could help EatNow grow their output capacity, so they can keep up with increases in
demand in the coming 10 years.

It is unsure whether new customers can be attracted to buy the frozen products if EatNow
increases their production now. In addition, if EatNow switches entirely to the WeBake
factory, transport of frozen goods may become more expensive. However, despite these
potential issues, EatNow management decides to go ahead with the merger and enters into
negotiations with WeBake.

What does EatNow show by merging with WeBake?

A) XEZEED

A high appetite for risk
B) MBLASZEEIR

A low appetite for risk
C) TRAXBEDHT

A lack of risk analyses

D) fR/DXFERER
A lack of risk strategy
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A) IEtf. CHEFBERNXE, IS ERANIFNEEENA AR, BRl, REEARINGERE
. BEHKRIATKKEZENE. C: A, $10.6.1F)
Correct. There are risks identified, like higher costs of transport and insecurity regarding new
consumers. Currently, there is no risk mitigation in place. Deciding in favor of the merger
shows a high risk appetite. (Literature: A, Chapter 10.6.1)

B) $HiX, EatMeMHla—LFERINKG, (BEXMIRFREIER, BLXKEZENERS.
Incorrect. EatMe faces some serious risks, which are not mitigated in the scenario, so the
appetite for risk is high.

C) iEiR. BRHTT—EXESHT, EARLHSPELMHE FIBINEHmA A IFTHEE R T ERAIN
b,
Incorrect. Some risk analyses have been done, since the risks of higher costs of transport and
insecurity regarding new consumers have been identified in the scenario.

D) iR, XIENENGEIRRE, MARNEREE. SHANRBRMEAEEAIREE, RRPREESZ
BE. WRIEXCAZEENIISIR, FBXEAT LR EER RS XGRS,
Incorrect. This would refer to a risk management strategy, not a risk strategy. The merger does
not show a lack of any type of strategy. It just shows the risk appetite. Taking risks can be as
valid a strategy as avoiding or mitigating risks, depending on the risk appetite.

Vet Ei#£% VeriSM™ Professional (VERISMP.CH) 51

Digital Transformation

PROFESSIONAL




=%IN

12/ 30
RNBERRSREHBEBELKRBCHS. ZATERFINEKS | —MHNAZF. B2, ZEFE
KRRGHEEEMIRSINEE, HEMMNEREERSER. XMISERTE2REZIE.

RSB EHEREEEREF. XYEFERBEARNRSEERNMSE. RESEEFRNET
BLRNSRERER, NREAZEDRE.

YIRTES A, FRASEMERIRSIREERTS. FANELSEEREAIRIIHEES INZIIR
. SINFIOEER, IRSAIKEZIEERERS. — M ENARENGI R EEIEF, HFol
EEBEEFINELUSTIRERTIS INRSE, LMETLUREE LIRS,

EXFER TAAZIRH A AZN?

A small cloud service provider wants to grow their business. The company gets a great
opportunity to onboard a new and large customer. However, the customer requires a self-
service feature in the system, which allows them to adapt their service needs per month.
This opportunity expires in two weeks.

The cloud service provider has change management procedures in place. These procedures
have been developed based on the Service Management Principles of the organization. The
Service Management Principles are based on the organization’s need for a high level of
stability, with a low risk appetite.

If a change creates an issue, the deployment is automatically reverted to the last stable
state of the service. The team has difficulty introducing the highly desired feature into the
service. The service keeps reverting to the last stable state when introducing the new
feature. A team member suggests bypassing this change management procedure and
manually adapt the production environment to force the feature into the system, so they
can onboard the new customer in time.

What should be the recommendation in this situation?

A) KAMGIRER, LSHERXENSFHEA—MALRTFEL,
Bypass the procedure permanently, to support these kinds of opportunities and survive as an
organization.

B) EiMZRIIER, ERHICRECHIEREIEETY, XEAREAILIELSRE,
Bypass the procedure temporarily, but log it in a known-error database, so everyone is aware
of this exception.

) FxdiER, ERARSEERUZEIT ZERERTRE.
Do not bypass the procedure, but check whether the Service Management Principles allow a
way to get the feature live.

D) FediERr, FEMEFIERRERSTININEE.
Do not bypass the procedure and inform the customer of the inability to implement the
feature as requested.

HERTE, TR
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A) R, KRR EBRAGRIET RS EERNE AT E SRR,
Incorrect. The change management procedure that has been established, based on the Service
Management Principles, will be permanently bypassed by this solution.

B) fHiR. AL EREHRIETRSEERIEVNEEEERERF. IRGBELEEXRELIFEEE
B_L, BRAL Z_%:ZEL'LM
Incorrect. The change management procedure that has been established, based on the Service
Management Principles, will be bypassed by this solution. This should not be a
recommendation, if stability is key and the company is not willing to take risks.

C) IFf. EARERSZEERNNERLT, SHRLDEREREEBPEN. (CE: A, 51038)
Correct. It is wise to leave some room for a solution, without bypassing the Service
Management Principles. (Literature: A, Chapter 10.3)

D) &R, XHEFHUKESRUCELORTSAIRRTTE.

Incorrect. This leaves no room for a solution that allows this opportunity.

13/ 30
RARBBRS 7T — N TIFE, SHEARTEEENNERE. XENERSATEIRARAS, N
MHFSEARE T TRMGHITRISFHHRIEESI

FRRBLESHES TR, DRI ALEE?

A large organization has set up a task force to map the most important value streams in the
organization. These value streams will be used to create an organizational portfolio, which
will help the organization to keep focus on what is important in an upcoming merger.

What must happen to ensure that the organizational portfolio is successfully implemented

after the merger?

HUSESCHE - Nl
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1. EMWEFBRIRBERGER (KPI)

2. BREFNFHITINMERE.

3. BATEMEREEEIERASH.

4, SRS HRERTAIRRER,

1. Define Key Performance Indicators (KPIs) for the merged organization
2. Ask the merging company to do a Value Stream Mapping.
3. Incorporate all value streams in the organizational portfolio.
4. Brainstorm about possible governance strategies.

1

2

3

4.

1.

RRIRR AN EMEHEEREMKR ENES,

eIaFRIERNERE.

TRBIS R R NIRRT AU B IRFIRESD.

EX RIS ENEHEERARIRESHIKP,
Identify the differences in strategy between the two companies and the merged

organization
2. Map the value streams before and after the merge
3. Identify the resources and capabilities needed to support the new strategy and value
stream
4. Define KPIs tracking the transition and alignment with the strategy of the merged
organization.
1. BEMMERAES.
2, ERTHEEFHIEIRERIFTIRSS .
3. AR, MEXTHIRSIVRE.
4. GFAE, EERTNIIRE.
1. Integrate the two organizational portfolios
2. Brainstorm about possible new services for after the merger.
3. Monitor the ideas for new services during the merge.
4. Evaluate the new ideas regularly after the merger is completed.
1
2
3
4
1
2
3
4

B)

9]

D) 1. IsEmMELRRIIIEKPI,

. ENHCEFHERIFRINERR.

. EEFHAEREBIRER CHUNMETR.

. REAHEERRIRE.

. Monitor the existing KPIs in both organizations.

. Brainstorm about new value streams after the merge.

. Enable the merging company to set up their own value streams.

. Define the strategy of the merged organization.

MERTE, EF—R
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A) EIR, ERNBERNERAER MEEKPIFHIEF iR, REERGHATMTNMEREEETE

B)

9]

D)

. BEEFEULEEETERERE. (NEMTICHRSIERRENEN. TEGLUEDT.
Incorrect. Defining KPI's without knowing what the value streams will be, is not a good
starting point. Although asking the merging company to do a Value Stream Mapping may
help the merger, there is not enough information to allow management to set up governance
strategies. Simply brainstorming about possible governance strategies is not enough. There is
a need for data and analysis.

IEf, XMTEATHRRS BRPRESMEIESITE, AEMGHITRIGHRHENL., &5 EE LIBEES
iaIERER, NMAERESEERIRIEM. (K@ A, 510.287/15510.38)

Correct. This approach ensures appropriate evaluation of the current status and gives input
for the upcoming merger. The approach also allows identification of appropriate governance
procedures to create a solid foundation for the organizational portfolio. (Literature: A,
Chapters 10.2 and 10.3)

HiR, XANMESTRENESHTRE. REXMZETUIFEED, ERERRENESEIIRRR
FE. W5, XA BERREREFRII,

Incorrect. The two portfolios may not fit the new strategy. And although this approach may
support creativity, it does not ensure that the organizational portfolio is developed in a
healthy way. In addition, this does not ensure the merger will be successful.

Hix, (WNEMEKPIARENERTARES. REEIKPIHTHEEIFEERE. SNTCHNMERT
BEaEH, EATERSEHEIEANES. RIBNEEHE.

Incorrect. Just monitoring existing KPIs may not work for the organizational portfolio. It is
important to set up appropriate KPIs to monitor. Brainstorming about new value streams may
be useful, but it does not help directly to implement an organizational portfolio after the
merger. The strategy should already be in place.
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RHAIN A FEEE N EXEmm. MEREER 7 SRaBIRS, XE—TRifHEEE
2 ERIEERIRSS. W ERRIEEFRILHERET ShAmbrymE, (BEEEERHERIT AT

HEERH.

Hh—RZ B RER D ERI BRI A —IIRE, AIEHEEE—RKAE SEBHAIART &X.
X—IRZSEBFERRINEEK?

A new online marketplace allows consumers to buy from each other and sell their goods
online. The value stream map shows the currently available service, which is a simple service
that allows consumers to create advertisements. They are developing ways to allow a
consumer to make their advertisement stand out, but management is not sure which ways
will work for the consumers.

One of the team members asks for time to work on a feature that will allow a consumer to
make their advertisement appear larger than others, for a day.

Does this service fit the value proposition of the organization?

A) R2, RIS EERE R RIS,

No, because the new feature does not directly improve the currently available service.

B) ~2, AHNEEEANEET RIRSHIGI.
No, because the ways in which the services will be expanded are not yet clear for
management.
C) B, EAEBARRAIFTEENERNIZSS, LURIELS.
Yes, because all initiatives by team members should be supported to keep morale high.
D) 28, EIREIRIFRENERNERAST &,

Yes, because the feature fits well with the proposed expansion of the organizational portfolio.

A) EIR. REFINEARERTTEMAERSS, BIFERSRNES. HINELEERH &, S8
THBEEHERR.
Incorrect. Although the feature is not an improvement of the currently available service, it fits
well within the organizational portfolio. The feature is a direct way to make advertisements
pop out, which will help consumers sell their goods.

B) iR, REENEENMRS, BXE—NLSERBSHEFER.
Incorrect. Even though the exact new services are not yet clear, this is a good idea that fits
well within the organizational portfolio.

C) EiR. ABISSEINRERIELTS. FIEENESHERES.
Incorrect. Features should not be implemented to keep morale high. New features should fit
the organizational portfolio.

D) IEffs, FFREINEBMASMEERAIIIEE. (E: A, 510.28/5510.35)
Correct. Features that fit the value proposition should be considered for development.
(Literature: A, Chapter 10.2 and 10.3)
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RHEBRTERS BER, TAESET. $IXIRSEE, RBETIUNEN, MAREFHEIEHT
BUEEMEIETTIE.

fEVeriSM™RE R R N AT S T BT ?

The printing service of a municipality is outdated and not functioning consistently. Several
improvements to the service have been suggested ranging from technology updates to
innovative methods of delivering the information.

How should improvements be handled within the VeriSM™ model?

A) FrEBUHEINANIHEXIRSHIRN. e, SBLREMESS), SERBERBSHTIHE.
All suggestions for improvement should be assessed for impact to the service. After this, they
should either be cycled back through approval activities or be evaluated in relation to the
organizational portfolio.

B) FrERINEFEMARDHESIMEEEMN. KENES, RSB ASERSHAR.
All suggestions need to be checked for compliance to local laws and regulations. When
approved, it is the responsibility of the team that created the service to implement these
improvements.

C) NZepl—ILuFE, EEETENHSUHAIRNG, FHHHFTEDRSAIETHIEITRIRE. ME— B ER
XN REFHR SR,
An assessment should be completed considering the impact of the suggested improvements
and to identify the cause of the printing service not operating as expected. A project should
be set up to address this cause and deliver the improvements.

D) HAMESGAERTLARITEENBEI TEEEMEERLE, B2, EANATERRUXAFHEREZE
EERNSHIA.
Any minor improvements can be handled directly by the IT capability through the change
management process. Major improvements require a business case and approval by the
consumer and by organizational leadership.

HERTE, TR
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A) IEfa, BSUHNIRARSE, AERESEERTIEHTAIE, VeriSM™igH, /MBS ERUEMER
ERHARR, MEASUAVANEBRESTR, EEREWAE, REEEFRNFASATHIIRSET,
POZiXtE.  (OEk: A, SB11E, E52)

Correct. The improvement should be classified in an organizational-specific manner and then
handled as per the documented process. VeriSM™ states that minor improvements re-enter
the system at the approval stage while major improvements must begin at the organizational
portfolio. This should be done while considering enterprise governance, the Service
Management Principles and the services already delivered. (Literature: A, Chapter 11, figure
52)

B) iR, BMRRITESIHIIGERAI— M ERRER, EVeriSM™e, SMENESHNN—BD. F
ZENRLESHIBEESEANE, HRITHERI QMRS EERUFMRENFRA.

Incorrect. Compliance is just one consideration that must be addressed when assessing
improvements. Within VeriSM™, compliance would be part of the approval activity. Major
improvements need to be considered from the view of the organizational portfolio to ensure
the actions are within the boundaries set by enterprise governance, and the Service
Management Principles.

C) iEiR. FHIFFTENSIAREERDFMAREE NRIAMSIHLEITH), RAXFEEERERIR, Butt
179 (UME. BEX.....) , REERALREXRIBEHEE: INBSUARIERENREFRHNRS, M
ERMHMINBRBETR. EEEEWEE. RSEEFRUAMERMCHRSHHTIX—E.
Incorrect. Not all improvements need the robust discovery and assessment actions as
described as this would be waste of resources. Classify improvements (minor, major...) and
then follow organizationally defined improvement paths: minor improvements re-enter the
system at the approval stage while major improvements must begin at the organizational
portfolio. Do this while considering enterprise governance, the Service Management Principles
and the services already delivered.

D) $HiR. XAMIAARES, WRERERES, TMEARH MR A RS SRS EEZ K.
Incorrect. This is too narrow a view. Consideration of the organizational portfolio is mandatory
to ensure any improvements are within the purview of enterprise governance and the Service
Management Principles.
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R AT EREH—TRSS, LIFEERF BN,

—BRSLE, $SRERABHREIHERSHERERIAR R —LRBRIRXESSSR (KPI) |
INFTIRSSHOSE, LEoh, IR EETXNMHIEH—STERDevOps TIFT, MNENERARE
R ETIER.

BRI AR
-=>< l N Resources

< BYOD

Environment

< BigData

] 1 T:T ~ Automation
-

saifojouyda) Suifiawy

~ Cloud

Service
Stabilizers
2
2:
| | o | e | = | S | S |

< Virtualization

ISO/IEC27000
ISO/IEC38500 ™
Agile/Lean

Management Practices

U ERHARERIME?

A railway company wants to introduce a new service to anticipate delays and inform
passengers about them.

Once the service is implemented, the organization wishes to measure the use of the service,
as well as some other Key Performance Indicators (KPIs) it is not using now, to see the
impact of the new service. In addition, they want to use this new project to further mature
their DevOps way of working from a single pilot to the standard way of working.

The Management Mesh looks as follows (see picture):
What type of view is this?

A) BERIE
Organizational mesh
B) BRI
Desired state mesh
C) ZEIEDHT
Gap analysis

D) SEPRERIE

Current state mesh
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A) iR, BEMEERRSFIER. NFEFEILIBBEESY, HWiHSiA T DevOps, ARigH
DevOpsfiMeasurementsgH< LB RRFIXZIEAREMIE., AT NERREL, FEATEER
BB,

Incorrect. The organizational mesh would reflect the current situation. From the scenario it is
clear that DevOps is piloted in this scenario. The long line for DevOps and Measurements in
the shown mesh makes it clear that this is the desired state mesh. It cannot be a gap analysis,
since only single lines are shown.

B) 1Eff. XZEEEIREMIE, DevOpstlMeasurementsFRHKEESIHEEMT. ATNETR—RKEE

%, RIATREEEEDH . Ok A, 512.25)
Correct. This is a desired state mesh. The longer lines in DevOps and Measurements fit with
the scenario. Only a single-color line is shown, so it cannot be a gap analysis. (Literature: A,
Chapter 12.2)

C) HiR. BTXERREE, EATEEEEST,

Incorrect. It cannot be a gap analysis, since only single-color lines are shown.

D) {#iR. WFEFHLBEEESH, HSRiXA T DevOps, FinkigshDevOpstlMeasurementsiyi<s:
LBRERPXZEERNSHE, BARRRIERIER. BT NERRE%, RIATTREREEDHT.
Incorrect. From the scenario it is clear that DevOps is piloted in this scenario. The long line for
DevOps and Measurements in the shown mesh make it clear that this is the desired state
mesh, as this does not reflect the current situation. It cannot be a gap analysis, since only
single-color lines are shown.

17/ 30

SIEHE T —IREXBETNFR. —BEFEMAiZIR, BIaEE—ELRE R EER,
ZRE A LS IER A RNF I ENANRE., ZNRREFSOSFEICARN, FREK. EaeF.
THE TR TR EEREALRE LTSI a0 S I &,
BRLELt KIIEEVeriSM™ER?
A university has approved the development of an interactive intake program. As students
join the program, they are given access to an online software application that monitors
their study efforts and subjects. The application can be accessed via a laptop, tablet or

smartphone.

Evaluate the following plans for developing the organizational view of the Management
Mesh to support this new initiative.

Which plan follows VeriSM™ guidance?

MBRe, ETF—R
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- Bk, WERF. HNBTMEER, EAKAEN—ITEEZA A,

- B, THMEESREN SR A= B LR E SREE R TLE,

- Afe, EEARNETESE,

- &fE, RETBIEFRA,

- Start with gathering information on assets, suppliers and budget because what is needed for
the plan might be already available.

- Next, assess the regulatory or legislative controls for such an activity and the operational
processes and tools in place.

- Then, capture current management practices.

- Finally, note the available digital technologies.

- B, HEIERATIEEN, HBRILIIE hAEMRIREEIERTLAEA BT O RIER,

- B, BRARNEESL,

- AfE, TREERAGEREHLE.

- &fF, WETIEMIRITRE.,

- Start with identifying the in-place technologies and architecture and make sure the large
amount of data that will be generated in this project can be processed and used for analysis
purposes.

- Next, progress to the current management practices.

- Then, identify the relevant regulatory controls.

- Finally, define the budget for each of the stages in this program.

- B, RpRWARFIEBITENNAR, LATHREFERERA.

-5, ITARNRERVETEE,

- RfE, WEADRFRBAEERISAL I TIENEK.

- &E, ADRFESMNFABLI SRR R ENE,

- Start with interviewing procurement staff and staff within the IT capability to understand
resources and available technologies.

- Next, IT staff should define the enterprise management practices.

- Then, question HR and Legal to discover current regulatory requirements.

- Finally, HR should check whether the culture in the organization needs to change.

- B, ICRERIARES, EANAERERASESHERENAE, A msrasemelsh
.

-EE, ZEAR (BRIRNAEFARAR) 8HER.

- RfE, EEEFI R ETESCR,

- &fE, WASDEEK,

- Start with making an inventory of the technological capabilities of the university because the
app will be the interface with the consumer and must be both functional and innovative.

- Next, capture information on human capabilities, specifically the app developers.

- Then, plot the current management practices in the picture.

- Finally, check the legislative requirements.

B, X
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D)
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IEff, WTHRIESENGER TR EEME: TR, R, SETEARTEEOR, (O A, $125)
Correct. This plan follows the recommended counterclockwise development of the
Management Mesh: resources, environment, management practices, and emerging
technologies. (Literature: A, Chapter 12)

iR, XIS RATERMEERITR, (EREEENANERETR, BEED EAFERIXBL,
Incorrect. This plan touches elements across all Mesh elements but does not follow the
recommended counterclockwise pattern, therefore risking an unbalanced approach.

HiR, TS RPIEETE ORIt (EREEENANERE TR

Incorrect. This plan touches elements across all four sides of the Mesh but does not follow the
recommended counterclockwise discovery.

HiR. XTI E R A BERBRIRRA D E. I IREERIN AL R,

Incorrect. This plan has a functional focus that does not include all aspects of the Mesh. This
plan does not follow the recommended counterclockwise discovery.
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RERIE—FFEM. A EFAARSSE LIETHNL, FHEIFEX. ATHREHEENT
X, FEEEARESNESHILE, XEHTHRINSRIITEEY, ITERIEBRMISRIERERI
LETIRMLR.

TEXFPER MR Z BN A?

An art gallery has been very successful in the past year. They own a website that runs on
their private server. This is becoming very expensive. To comply with consumer demand,
they need to accommodate more visitors to the website at any given time than is possible
with the current IT architecture. The IT manager proposes to move the hosting of the
website to a cloud provider.

What should be done before providing advice in this case?

. MEEESKREIMUIES,

. RECRSREEERBHTRMN.

. ERETRISZRERON.

. Ask management for guidelines on outsourcing aspects of the process.

. Write a tender for cloud service providers to compete on price.

. Hire new staff to support the new technology.
HEEBETEWA TSR AN,

. EETARmZAE, SEARLRIRSHENGE,

BT HNAIFRARSS 28 Z BIRIP A HT.

. Ask other professionals in peer groups what they would advise.

. Look for ways to upgrade the current server, before changing to cloud.

. Make a cost-analysis between cloud provisioning and upgrading the server.
. BEERIMEREMEBRAES.

THEERLFARREREBERET RS EERRE.

. EEEENE, URESRSIRIREEAE.

. Look at the value stream map and the organizational portfolio.

. Assess whether the art gallery staff is able to work with a cloud-based Content
Management System.

A)

B)

9]

3. Look at the Management Mesh to decide if moving services to the cloud fits.
D) 1. HRT=KAK, BEERIX—UERDAE.

2, MAR=MRSREEIRMNTTZ=.

3. EIE—EERSHIFINMERE.

1. Study cloud technologies until the topic is sufficiently familiar.

2. Look into the offers of cloud service providers for pricing options.

3. Create a new value stream map that incorporates cloud services.

MBRe, ETF—R
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A) EiR, AEEESKESTERNEN. B8, EXIMR, "REAGPHIERFIRTITHHE. RE
HREXRACKAH THFHEREZ FRXBLA LT, EESEHEERSRAREESHLR.
Incorrect. Asking management for guidelines may be wise. However, writing a tender and
hiring new staff is too radical at this stage. Although these could be actions after deciding to
adopt cloud technologies for the digital transformation, it is important first to establish if
using cloud technology would be a good organizational fit.

B) &R, MADWARERBMEEY, EREFARUVREERTNSEREN. MEXETRRERE, E
AN VFRBETLEHEAAR. EERIERT, REMEWATISREYTERADERE. B8
MAEERACRAREESEHR.

Incorrect. A cost-analysis may help, but it is not all that could be done to give a sound advice
on whether or not to change over. It may also be lost time, since cloud provisioning almost
always cuts costs. Asking other professionals for help is probably just confusing at this point
in time; it is important first to establish if using cloud technology would be a good
organizational fit.

C) IEf. EEMEREFMARESBREVERR, RESRS IV mnESSHAESEN. TMEATRT
EEEBERNSEERFHETHIRAE. EEMEEENAN T BEEENILRNBTREAEE
HERSHBERS, NMESZREEN. O A, F125)

Correct. Looking at the value stream map and the organizational portfolio will provide the
information needed to decide whether moving services to the cloud fits with guidelines.
Assessing whether the company staff can work with the CMS will also help in making a
decision. The Management Mesh will help to gain an overview of what needs to change to
reach a desired state in which the cloud services are incorporated, and thus make giving
advice easier. (Literature: A, Chapter 12)

D) $HiR, RMEBEWNZBITNVHATIKAER. Wit, BREAKRERRS, B RMSGEBANMER
El.

Incorrect. It is not necessary to become a cloud technology expert before giving advice. In
addition, cloud services will not be provided by the art gallery, so these should not be
incorporated in their value stream map.
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RHMBERRZEEN NS ERIBIARNSIN. ZER B S SNt B IR RASAISCRAN SRS
HEIETT RAR—EE L.

M558 )RR, REMMAEEERAEIENEWE, MAILURERBIHETE. FARRIER
™, MFENETIES, IRERES. E550 1%, RENENR&/IMES ISR, ik
FrERAEFRERIERE. EEERT, SHNEEDERL, MIIEERRABRSTE.

EeIEEIEWEE, B—IRItRES SIS ARRETTE?

An external consultant has been invited to facilitate a meeting with a multidisciplinary team.
The objective of the team is to reach an agreement on the preferred approach when
considering and selecting practices and technologies in the construction of the
Management Mesh.

The input from Finance shows that there is enough investment budget, as long as there is a
solid business case for the chosen practice or technology. The input from Development
shows they would like to work in a different way and become more self-steering. The input
from Operations shows that the team does well in minimizing risks, which keeps all options
for technologies open. The input from Management shows that they prefer a technological
solution over a new management approach.

While creating the Management Mesh, what is the best approach to choose appropriate
management practices and technologies?

A) RRLEARARRTTE, BAXFHITER LAMRF Rl SS ki s ST R B TR AU
A
Adopt a technology-based approach, because this approach responds well to business
challenges and drives the technology required to support digital transformation efforts.

B) ERESMAVEESE;, FARMEBRCIIEENT, RERHNEESSHGIMEIAIIMERITA.
Choose the latest management practice, because this has already proven successful in other
organizations, and ultimately the practice will shape team collaboration and behavior.

C) HTEXRDWT, FEALSWTERTRENFITHAER, ThFETECRARA T SMItE,

Perform an analysis of the requirements, because this analysis considers the capabilities and
expected outcomes, providing a variety of options when choosing a management practice.

D) ER&RFHAIRA, RAMSEEATLIBRMAEHERSMEZA, FERBIZRATURAEZE
PEAFRARR XU .

Select the state-of-the-art technology, because financial management assures that the costs
are within budget of investments and that associated risks are minimized if this technology is
adopted.

MBRe, ETF—R
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A) EIR. RARAZ LRNGEBREESHBNEX. Bt REZDEFERSASEIRA, KR
MYTEAMETEITEE. RERKANKELZZEXNE, MERY (WH) BRIBATEES
ASEHK.

Incorrect. Adopting a technology-first approach often leads to short-sighted thinking. Also, it

is prone to selecting the wrong or inappropriate technology and this can be a very expensive

mistake for an organization. Investing in technology is never without risk and there is rarely (if
ever) a complete fit of a technology to a business need.

B) &R, SAMAVEESCEARRIEE( AR PEREEUSAMTI. EIESLHANERIUR T SRS IRERTE]
TUNRFER, MEEMABRTHLMIRAEEREXFEELRE.

Incorrect. The latest management practice does not guarantee success in any organization.
The selection of a management practice depends on a variety of circumstances and
competitive factors that change over time; success depends on how the organization adopts
and adapts such a management practice.

C) IFfa. BIERDHT, JURREENBIISNEE, RHESEE T PSR EIESTE Al
HEMRAVER. (OB A, 51451F)

Correct. The analysis of requirements allows the exploration of diverse aspects of the
Management Mesh, to identify gaps that need to be resolved before the selection of a
management practice that would facilitate producing the expected outcomes. (Literature: A,
Chapter 14.5.1)

D) 2. —MNERHSHALRIARE], FGRARMERURETHANE SRR, AEHRENEMN
ZERBOREAEAR, MAMUEETEEETHSIHITRE.

Incorrect. A progressive organization recognizes that the use of emerging technologies must
be based on understanding the business strategy of the organization, then finding the most
appropriate technology that enables the realization of that strategy, not solely on whether
there is the budget allowing the expenditure.
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HIRITHREEFERFR/LN B RIMNFTEDRIRI TR AR FEAIIMKER, RS ERINEFHELLT
=BEK:

- WS TARMLAST LR R,

- EPEEA LR ERXIMKE,

- WATARIRRSRA.

- AT R — RN FRAR R LAST R P AR B,

B — IR B X I IRSS?

A bank would like their customers to switch from printed bank statements to downloadable
statements within the next few months. The new service has the following high-level
requirements to make it successful:

- The IT architecture must be updated to support the digital transformation.
- Customers need 24/7 access to their statements.

- Privacy must be guaranteed.

- A mobile app must be developed to support the digital transformation.

What supports this new service best?

A) XMEFUERTEENRITRN, RITNARAHERIRS, HIRAER.

This digital transformation requires changes in the IT architecture. The bank should look into
public cloud services to ensure the timeline is not exceeded.

B) XM CHRAEFEEIT LRI, 25, ESTIATATREARITTER T LREH S T30,
This digital transformation requires an evaluation of the current possibilities. After that, the
missing elements for success can be determined and supported.

C) XMHFHHLTERSHEREE. RITNEET —REETUATRARZERIE.

This digital transformation requires increased security of the data. The bank should hire a
company specialized in security to look into security measures.

D) XME R R TH A THIRAINEE. B, RN BRINI(FSRDevOps T1FS
Eto
This digital transformation requires rigorous changes in IT development. Therefore, the bank
should switch from what they are doing now to DevOps practices.

MERTE, EF—R
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iR, RECRSTREIHRITER, BEAERRSREINRERER, 3, AHRERREGERFAT
HHERTIFEEME, REURFEESRY, (BRETSRBIXERTUNRENRRITE.
Incorrect. Although cloud services may be useful for the bank, it is not necessary to switch to
cloud to speed up the transformation. In addition, public cloud brings many difficulties in
ensuring privacy of the data. Although changes in the architecture may be needed, there is no
indication this is the best solution for the bank at this time.

I, XigE TIHESEXREXRERIIFR. WEERRE, TEmiEFIRSGFTHEFRITTR. It
Hb, SRATNEIREFTAVSE RIS T RIS,  (3Ck: A, 5514.55)

Correct. This addresses the need to evaluate what is in place in relation to the requirements.
Once a gap is defined, utilize elements from supporting practices where beneficial.
Additionally, the bank should be aware of the impact of the new or changed practices on
behavior. (Literature: A, Chapter 14.5)

X, REHERITEERE, BRNEEROVIESHEZEM. Wit BiERITI/IMBNRTAK
HJEEESMEREN, RMSELEEMEFARIFERL.

Incorrect. Although the data does need to be secure, it is not clear whether data security must
be increased. In addition, asking employees from outside the bank is not likely to increase
security of the data, but rather complicates security and privacy protection.

HiR, &R, AL EMRSR, MERE. RN ARSSERA SIS, 75
FRRBAEZRADevOpsSLEAS BB FITIRIT.

Incorrect. Rigorously switching to new practices is not a solution here, but Waste. The
improvements are not helped along by simultaneously changing all development practices. It
is also not apparent from the scenario that DevOps practices would support the bank in the
best way.
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IRt TravAgiBEY KB CRILSS. MIJERENTIBARIREEA. IR ERMATRKAINRT
tt. ATEIX—BR, e T OmaEgt k)

1. BIE— BN e F LTS ERERE T .

2. BUBESOFANRY, EERARSHEL,

3. SAEE/NIRFIFGHLSREHIA 0.

4. RIFHEEEHITERTNT.

TR LEMASEIEMISHT, TravAg4iHEHRT &R,
RN B FRB SR AR ?

A travel agency 'TravAg' wants to grow their business. They have been able to save a
significant amount of capital to invest. Their mission is to be a state-of-the-art travel
agency. In order to attain this goal, they have identified four strategic initiatives:

1. Create a mobile app to facilitate consumer bookings.

2. Diversify the target group by including teen group travels.

3. Merge with a smaller competitor to gain market share.

4. Allow self-service bookings by consumers.

While creating the current state Management Mesh, the currently available resources must
be assessed by TravAg.

Which question will help them identify the currently available resources?

A) XPUIEEEE R R B SERTER?
Do these four strategic initiatives fit the organizational need?
B) FMRTAIRAKFEARE?
What is the level of technological skills of our staff?
C) HIZPBEMRLTES MRS ?
What products and services in the market space compete with us?
D) BRIUEERIT RIS AHERE HREANME?

Which strategic initiative will yield the most value for the consumers?

A) iR, XE—NYRIARNEESSER-,

Incorrect. This would be a question to ask of management practices currently used.

B) IEff, $HHRPASEEME, LRIRAIMERTARAKE, (CH: A, $1238)
Correct. The skills in technology of current staff has to be identified for the current state
Management Mesh. (Literature: A, Chapter 12.3)

0) HiR. REXNMIRREE, EXRAZNEEMEMEIAITE, MASNRIRINTHE,
Incorrect. Although the question is important, it is an assessment of the environmental
perspectives of the Management Mesh, not the resources.

D) iR, REXNIRREER, BERAFHERARR, MXELIZEIRPRESEENEI—A,
Incorrect. Although the question is important, it does not help to identify the resources as part
of creating the current state Management Mesh.
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Wi AEEEEE, FRAIERBRE (BEEHNIRE) LTk, BN
DevOps THET, XFERRFELALMN. NTIREMI, tIFET KFIBRRAMEMNL
AR, AL, IFEEIFETRATRE, AT ABREEF AR FRITE.

BNEEMIEER T2 A SREREIRE?

An online gaming company wants to move to developing games that are accessible on all
devices, including all mobile devices. They want to change to a DevOps way of working,
which requires changing the organizational culture too. To be successful, they need to
extend their use of cloud technologies and virtualization. In order to do this, they need to
plan some budget for new technology and hire someone to ensure a smooth transition
during this digital transformation.

Which Management Mesh shows the desired state for this company?
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Management Practices Management Practices

A) IEffs. DevOps 3zi5BEait, Cloud XFEFEIMY, FIEEREAEMIES, HNEERSRAREEZS
M. EREREALSCUNIEIMARMMEAESRE. (OB A, $12, 13, 148)
Correct. DevOps is supporting Automation, Cloud is supporting Virtualization; all these
requirements are in the mesh. Suppliers are affected as a result of using cloud technologies.
There is a focus on developing Organizational culture as well as short lines for additional
people and budget. (Literature: A, Chapter 12, 13, 14)

B) fHiR. MNRAJREEMISAVERERD . B2, MRKT Lt REENMA, FINAERNE, AR
NE (ERERANER) .
Incorrect. Knowledge could be a component of the mesh. However, a number of items
important to the scenario are missing such as Organizational Culture, People and Suppliers (as
a result of using Cloud technologies).

C) iR, MRKT LA REENME, FIIEMCIIHNE (ERKRARER) .
Incorrect. A number of items important to the scenario are missing such as Virtualization and
Suppliers (as a result of using Cloud technologies).

D) iR, MET—LEMZREENIE, Hlilz. MV (ERERARIER) # DevOps (FEIFE
EHELR) .
Incorrect. A number of items important to the scenario are missing such as Cloud, Suppliers
(as a result of using cloud technologies) and DevOps as a new required management practice.

ZiA % VeriSM™ Professional (VERISMP.CH) 70

VerisM™
ital Transformation

Dig

PROFESSIONAL




=%IN

23/30
G ECHMNLEE)VEIIRS. RIKATLUEE RS ERREEIEEEE, thESIKIR L 7R
A RIS IFAEE—FRFUMECASTEIR.,

R T A P AR S E TR NS,
-=">( ' N Resources

5 )
5 » ] @
2
- - - z 3
2 2
g 8
3 H - H H H & H
7 4 r . 4 r o & 4 r
I - I: - l — ~ 1 g — — w1 - I - ~ Containers
Other » = = by = 4 { & 1 1 1
l | I | | 1 | I Serverless
e e e — | = - N
Organizational \ | Computing
e 4 A y ey ey 4 1 1
Culture
— e | ==t | - LoSA =
= 4 = 4 = 3
I — l N — l - ~ Blockchain °
t Competition > T s o] st o =i & = 1 °5‘
[}
£ | | | A ] — | - | - l | < loT o
5 Partners > o et g o e e et et ) ~
o= e f e f —— f e — = d ol = <BvOD =3
E === = e f=—=m v | g
- b ] e o e Ty e e B == < BigData 3
LOGISIAtioN > el W—— — — — — — — e T ‘%
A vw— — |

e S ] B sl s < Automation

° Processes » i w—" w— ~ | | s | i | ~
8 ki - - P Tt o ] e — —— — < Cloud
EE Measurements > il ses—n" s— T T ey gy g S gy ety
& a R e e ] e i —— < Vintualization

Tools »

~
.

1 1 ) )
’ , ’ ’ , 4 ’ A
3t E & S 5 %t gt B °t =
tE § % B * §E ¢ § 2E 3
i 2 3 2 H H =

Management Practices

BB R SIX EIEMNEREE?

A consultant has her own online parenting consulting service. Parents can ask her anything
through a website with a form. She offers them either a training course sent by e-mail, or a
personalized series of video chats.

She has created the following desired state Management Mesh (see picture).

Which story for digital transformation fits most closely with this Management Mesh?

HERTE, TR
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A) PRjEIRAEDevOps TIEAT, BEH T RMERATENETE)I, thAEESEHIN TS
I, AREAREISIENNE. B SIRTSRAE I,
The consultant adopts a DevOps way of working and wants to train herself in website
development and cloud technologies. By doing this, she wants to achieve new ways of
working without hiring anyone else to add value to her business. Doing all the work herself,
she is independent.

B) PE)AEEE /oM E1E)IERS, MRS MECATT RR_EEINSS, Altt, SFrRstiRsdE. Fit,
i REST (EFREURRPEAE) (GDPR) . WABE— M AARERITOIZ.
The consultant changes to an online training environment, so that she can easily personalize
and scale the online training business. In doing this, she will start processing data. Therefore,
she will have to comply with the General Data Protection Regulation (GDPR). She wants to ask
a website developer to build this for her.

C) FaERT B—amMELd KWsS, ZMIEHEREM D2, ALt REGIT) A, FERaERE
CRIZICRERIIFINR. I, REEEAS—FKEIRS 2 BWLHE)IIRE.
The consultant hires an additional consultant to expand her business. This consultant will work
online, so she will have to invest in training. The new consultant wants to work on her own
laptop and mobile phone. In addition, the consultant is buying new training content from
another consulting service.

D) MESRm—RATEH, FUARNEXMELINE. XERFADMTEI, KEWEmITFS. MO
AENEZ—EEILVENFTABRIFRE, AT 7 —LErada.,
The consultant merges with another company, so the company culture will have to change as
well. This new company is located abroad and works in a Lean way. The consultant will have to
do some training to fit the new company and she sets aside some of her budget and time for
that.

A) iR, DevOpsAEEEMESH, MENEEEEMES, EHXNEARLE.

Incorrect. DevOps is not mentioned in the Management Mesh. In addition, suppliers are in the
Management Mesh, so this story does not fit.

B) IFffs. XMELSEEMERIFIATER. (8 A, F12, 13, 148)

Correct. This story fits all elements of the Management Mesh. (Literature: A, Chapter 12, 13,
14)

0 iR, XTHEERE, YRKETIRE (BYOD) HMEIEEMETD. LIk, FRFEIREHE.
Incorrect. Bring Your Own Device (BYOD) would have to be added to the Management Mesh
for this story to work. Furthermore, no justification is given for the long line of legislation.

D) iR, XNMMEFTE—FBmsk, BARKT, I, XNEREHRREINKRE.

Incorrect. This story would require a line for Lean and that is missing. Furthermore, this story
does not explain the long line for legislation.
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1-2-Web R BIRIFAMESLERAIMuLER, MBS, A CERMLE, RIZHRILEE
htmigiphpt&Etr, ZFRTLUGEINERIER, HAILUSKESRIER.

—UEFPXIFRIEHIRE T RIER. RIRMEEHMNREUNMERERS. RIRATEN 5=
FIERUEHIXIE—E, MMSEIAENE. Fie X MENABNILILRMGHINEEERS.

1-2-Web {2 T XFF A RuGEIRAITTEERTIZR.
oWl == i eSS NP e S

1-2-Web is a company that allows people to purchase a simple website template to build
their own website. The company does not host websites, but simply delivers the html or
php template for a website. Customers can either choose from existing templates or
request a custom template.

For a new custom template, one of the customers has clear requirements. The template
should work well with mobile devices and on all operating systems. It should be built in the
exact style of their current website, so it is a seamless make-over. A pre-defined number of
roles should have access to the content management system of the website.

A full list of requirements is given to 1-2-Web to develop the new website template.
Of which type of requirements gathering is this an example?

A) TEBIERIKE

Customized requirement gathering
B) ixftEsRitE

Iterative requirement gathering
C) BIRERIE

Template requirement gathering
D) fERmERIKE

Traditional requirement gathering

ABER7e, ETF—R
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B)

9]

D)
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HiR, XE—NEEFRERER, BEMEANERKEDFZELAENTS, XEERNEKRK
&, BHERIA(ITSTE AYEK,

Incorrect. It is a custom template that is being developed, but there is nothing customized
about the described method of gathering requirements; it is traditional requirement
gathering, where pre-defined requirements are delivered up front.

IR, BFRBETHIENRERFIRIIE ., HAFEEHTEA.

Incorrect. The customer just hands over a pre-defined list of requirements. This is not an
iterative process.

iR, [EREFFRRIMEER, (BRFTmARIERKETE (BMRRIZITEENAIER) ZIEFHIE
KUZEETTIE.

Incorrect. The product being developed is a template, but the described method of gathering
requirements, where pre-defined requirements are delivered up front, is traditional
requirement gathering.

I, EFNEREBEMINAR, IITUMEEF. (OBt A, 51438)

Correct. The customer has a clear idea of what the requirements are and they can work from
there. (Literature: A, Chapter 14.3)
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RERVHSNEREIET SCHER AR R TR SIS VRAVAER TR, 155IRYEAR (loT) FIAEL
&, XXIFHMIE— N EARIGIEE(L.

AT DT ERPASIIERINS Z BRVEIE, BB RT NIRRT,

PR R E S TR D HT?

A manufacturer of heavy machinery wants to implement the technology to monitor and
predict maintenance needs of the produced machines, specifically Internet of Things (loT)
and Big Data. This is a major change of strategy for them.

To analyze the gaps between their current state and the desired state they first want to
focus on external environment influences.

Which model is most suitable to perform the gap analysis?

A)

B)

9]

D)

A)

B)

9]

D)

ZEHTSIELR

McKinsey 7S framework
Burke-Litwint®EY
Burke-Litwin model
Nadler-Tushmant&fY
Nadler-Tushman model
SWOTSHHT

SWOT analysis

HiR. THEIMNREZREY, Z5H7SERAFARREGHIEL. Burke-LitwintRELIEINBRE,
Incorrect. McKinsey 7S framework is not the most appropriate one when assessing external
factors. The Burke-Litwin model focuses on external factors.

1F#f3, Burke-Litwint2BUF5MBRIZR,  (SLERA: 5515.3.2E)

Correct. The Burke-Litwin model focuses on external factors. (Literature A: Chapter 15.3.2)
HixR. (EABBNEXABENTSES, BRNOINERSBIAAR, &8, XMFITIIE, Nadler-
Tushmant&ZBRIIX PN EREZZRERAY. Burke-Litwint&BLKESMNEBEIZR.

Incorrect. People, structure, culture, and work are the four elements of an organization as a
social system that transform inputs into outputs. These four fundamental elements of the
Nadler-Tushman model are internal. The Burke-Litwin model focuses on external factors.
HiR. INBRFZEREZSWOTHHTHI—FEmA, HIAEETAREZE. Burke-Litwint&BIKESMBEIE.
Incorrect. External factors are only one type of input for SWOT analysis, which also considers
internal factors. The Burke-Litwin model focuses on external factors.
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—KEA/NEW R ERNEMRTREMFERAEF RS . WSMIIEET B, FEEIR—
FANTF R, DT EETRIITARMEIET L. BEEAEEH TR ERBESS.

BREAHES, BLERBARNTE, BRREEESIET OEN AR TH SIRTIRIRA R
HEUCER, WEITSRAIBurke-LitwintEE!, A EMEEBEIFRIITTIL,

XS LIRS SR ABurke-LitwintRERS, $RITTT—SREAM?

An international bank supplying loans to small enterprises was an early adopter of digital
services. Now that they want to expand their market, they need to rationalize a range of IT
offerings. Included in the analysis are redundant IT organizations and data centers. Efforts
to integrate or consolidate the redundancies have had mixed success.

C-suite managers have concluded that a different approach is required. The aim is to match
future IT provision, including the data centers, with the bank's strategic developments. By
using the Burke-Litwin model, the C-suite managers expect they can better deal with the
changes.

When using the Burke-Litwin model for the above scenario, what should the bank do next?

A) EFTRBRTESINEM. TAFMEN
Get a better understanding of the beliefs, behaviors and values which are prevalent at th
bank

B) Bty T HRERITREBI TR P BRI N A SR

e

Get a better understanding of the individual performance criteria which operate in IT teams

within the bank
C) EiFith 7 HRIRITITEIRA AR EBAIR R FNER =

Get a better understanding of the relationships and responsibilities within the IT teams of the

bank
D) Bt T RRITIESHNARRFIER

Get a better understanding of the organizational systems and procedures which are prevalent

at the bank

HERTE, TR
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B)

9]

D)
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1Eff, Burke-LitwintBURH T —FE _EM FRIIZIE, EATMAERIIRTINTEE. s fERR
TKIRENAY, BERNIUTEEFLEMERAINRS, JMEEZSBurke-LitwintE B Ry R TR EIEAE
K. Eit, /MRZE (Ka13{E) RATSEEZENIRTESINELSHE (B, THAFMMEN) . X775
ERBESNSS. EOMME—EIRER. (X A, $15328)

Correct. The Burke-Litwin model proposes a top-down approach as the drivers for change
start with the external factors. The strategic mission is driven by expansion but is also a
response to prevailing legal and regulatory requirements. These external factors have a direct
link to the transformational elements within the Burke-Litwin model. Therefore, it is likely that
the external factors (driving the change) will have direct causal effect on the organizational
culture (beliefs, behaviors and values) prevalent at the bank. This aspect needs to be better
understood alongside leadership, mission and strategy. (Literature: A, Chapter 15.3.2)

HiR, £THRAINEIR, SHIESSRUEERN, SELRESIHRITITARNSURENEN. Eitt,
RITLAERRBMELETF. (FARTERZEN R, FESTIMAGSHNTARR, MXMHEE
BT, Burke-Litwint BN B TEERAIRINHT, TEHEEFREEXEESE,

Incorrect. C-suite managers will no doubt have concerns about the performance of IT staff at
the bank, given the fact that previous initiatives to rationalize, consolidate and integrate have
had limited success. As such it would be tempting for them to start here. Individual
performance and personal factors will need to be analyzed as part of overall change initiatives
at the bank, and this should be done later. The Burke-Litwin model proposes that higher-level
analyzes are performed first, especially when significant transformational activities are taking
place.

HiR, THRRMTHXRMRSRREE, FARMIZEERT ITENFAIRERMHNRZER. WNREAE
L75E, WXMOTERESEE, BASSSNRE. EFNEELE—ERIMRITINEERE.
e, REEERERE ZHNNEREREN, FFZEHTON,

Incorrect. Understanding relationships and responsibilities at the bank is important, as this
approach considers the transactional elements in the IT teams which could be failing. An
analysis of this kind could work better though, if an organizational approach is taken. This is
because together with the systems, procedures and management practices they influence the
operational effectiveness at the bank. As such they will require analysis, but only when the
broader environmental aspects have been considered first.

HiR. WERFAEFAISFATETOTELARTOM, SJLAERBRLERITARN, WL, RFEM
EFERSHMEESHR R, HRFMEMANCERR. BR, FAF—F, BEfraEREIE
KERITZRFIMAYIESR.

Incorrect. Undertaking an analysis of the way in which systems and procedures operate is
essential, as it provides evidence of what works and what does not work at the bank. Together
with the structure and management practices, the systems and procedures influence the
operational effectiveness across the entire organization. However, as a first stage, it will not
consider any evidence of the transformational influences at the bank.
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—RREHHEFEREN BRIPERE RS NARFEENR. EEMER, AEHETESNNAERE
FAIARRIRGER, XFMZIEFLE, BREHE 7 L,

BEHTEREHE —THERWRRLHARBER, USETHRSMEEIFZEEK.
EAMA BeERWBER SERARISE—E?

A company that offers a digital wallet allows consumers to pay each other through the app.
During their start-up phase, duplicate applications and technology solutions were

deployed. This practice has now stopped, but some of the problems remain.

The CEO wants a sourcing policy that defines practices for sourcing decisions, rationalizing
services and managing uncontrolled growth.

What should be done to align the sourcing policy to the organizational strategy?

AERTE, EF—R
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A) - HIEBESITINUEHES R TAT AT TEHRIRWECR.
- BT BMOIRSS ST RN AR E R TR,
- BB IR R
- BEITRHREIINE. IEEIAERER,
- Define a sourcing policy that will guide the behaviors and actions of staff as agreements are
made.
- Define sourcing expectations based on strategic goals and service management principles.
- Outline the selection and decision-making process.
- Ensure compliance standards, legal and governance mandates where necessary.
B) - BIE—MEERWENEDNN, SEeHEMMEDHT.
- EIEAEAIEEK,
- LIEERIEERME, LBRERIHEEFERK.
- IRIEARSS EIR RN R T RIGHIRN F1.
- Create an official document covering the approach to sourcing, including specification
development and value analyses.
- Include legal and governance mandates.
- Implement a contract management process to ensure that the contracts meet the business'
needs.
- Create a rule book for purchasing, based on Service Management Principles.
C) - HIEE N EEBERNSEEAIRIEIT .
- IEAAGEHIE. MMEDTTAIFIRIBRERATED.
- BIRE SRS EEMSIRSES, CIEEMHHEIT AR,
- BXENRBHEFRHEER, IUREWSFEK,
- Create a sourcing plan that defines operating policies and practices.
- Outline the responsibilities and activities for specifications development, value analysis and
negotiation.
- Create a process to redevelop the plan each time a new or changed service is considered.
- Redevelop the policy each time a service is changed to align it to business needs.

D) - HIEIFMRAARETS HHEFRIRWEER.
- TRIEAES B inHERWHAZE,
- BRI IR R
- ERRENE, RTEEHTEBRTREENHEBER, UEAWSEHEK.
- Create a sourcing policy that details procedures for the sourcing approach.
- Develop sourcing expectations based on the strategic goals.
- Outline the selection and decision-making process.
- Allow the CEO to own and redevelop the policy each time a service is changed, to align it to
business needs.

MBRe, ETF—R
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A) IFfa, SEWBCRRSEEFBREXAMEHETERERRY, Wit EERT AT EIGRIEARIH

B)

9]

ik, URBFHITERZENHE - RERWRRFENFISSHRAIRWEER, AELHHRSIEEIE
REERK, ERMARRELRISIEERETR. OBk A, 51635)

Correct. All details relating to the scope and purpose of a sourcing policy are correct. Also, the
specific sourcing challenges at the company are addressed, as well as the CEQ’ s wishes to
redevelop a sourcing policy that defines principles and practices for sourcing decisions,
rationalizing services and managing uncontrolled growth whilst still reflecting the
organizational strategy and consumer need. (Literature: A, Chapter 16.3)

iR, RMBERRHE T HE—EEXBERPEXRTAIGE, BXBERRE 7 RBIRSS 77508 TR
IRS3IEME, B, RWBCRNETRSEERN. B2, XWEREAATESWESE. MED
#r. MNEARFEN, RALFEREERERERWITH I MIEBRWESRS. RWBERIELREENA
(]RZRA) B, RILERETERTEINAIER, b, MALE, RIFFEETERBRTERTERN
BUR. BURIRMTSEMN, SN EFMRTTAMIS AR, XNERMLRESR, RBTILRIR
BTEK, BFRERIEIGRPAR BEHITERIENL.
Incorrect. The sourcing policy provides a code of conduct defined in a set of associated
policies covering each of the elements of the approach to sourcing services and service
providers and the policy should be based on the Service Management Principles. However,
the policy will not be used to guide activities such as specifications development, value
analysis, supplier research, etc. as this detail would be held within a sourcing plan, not
sourcing policy. The policy must also be owned by a singular person (who is accountable for
it) so the suggestion of team ownership is incorrect. It is also not good practice to continually
alter policy based on every organizational change, only those that require it. Policies provide
the high-level rules, they underpin processes that should be re-engineered to respond to
change. This answer is also very generic and does not reflect details within the scenario which
asks to address the current challenges and the CEO’s concerns.
EiR, XEBERSRBERAX, MBI ZARBIIEXR. BERPMEHIFBIREERIEINE
BHEIRA. BORESISERSEN—MFR, AFEMTER. Bk, MEEFRMERRE, LB
RHIZARIFEK.
Incorrect. These elements do not relate to sourcing policy but to a broader sourcing plan. The
suggestion that there should be detailed procurement activities provided in the policy is also
incorrect. Policy is a means of giving direction to the organization and does not require
constant evolution. Rather processes and procedures should be reviewed regularly to respond
to changing requirements.

D) &R, RWECRIHSTKHIE, LIRHSISMSWMESLI KRBT, B2, BRI NESHIFMIE

Fr. HEBCRTPHERRAT (UIHLEMRFRE) BRATEZN. EEREREEERERN, 5
b, MESILERRTERIINAREHNEEXIECR.

Incorrect. Sourcing policy will indeed be created to provide direction and overarching
guidance and sourcing expectations. Within the policy it is not appropriate though to have
detailed procedures. It would also not be acceptable to define low level details like a selection
and decision process within the policy. The policy will cover legal and governance principles
though. It would be inappropriate to have someone at the level of a CEO to own and manage
the policy.
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HABHIE 7 AT RBEBCR :

RERFEE L HZEZHIFTK, FIUARTIAIREIENR. RENIRS. HEHILTEREEE

FEHIATFFEE LB S5 T/RY,  LAE T AL AR S5 EFGE,
RESTEETHNEAYEEN. FREfIm RIS,
AIEESHFRIZIRS R, IIRESHFIRZIBEENEX,
RIERWEER, A EIREEROIRIR?

A company has the following sourcing policy:

Obtain all supplies, equipment and services at the lowest cost, as long as they meet or
exceed the consumer’s needs. The more sustainable or socially responsible company must
be chosen to meet our own corporate social responsibility commitments.

The decision process is based on the capability, capacity and historical performance of the
supplier.

They are looking for a new cloud service provider, that will support custom changes to the
service quickly.

Which of the four bids should this company choose, based on its sourcing policy?

A) ARIFHA:
- MRS
- IR R 1 0FH SR
- R EHRIEHCR
- SEERE NIRRT X
Vendor A:
- pricing is highest
- provides performance data for the last 10 years
- has excellent performance record
- supports several small low-opportunity communities across the globe

B) {HMFSB:
- MEB=8
- STHEHN RS
- ER10FIHIMSE, RERA/LBRESFERE
- FEERRAESR T SIEE
Vendor B:
- pricing is second highest
- highest rating for support
- market leader for the past 10 years, although performance of the last few months is
questionable
- is under investigation for investing in weapons industry and slavery

MBRe, ET—R
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HRpEC:

- MESB R

- ZES5F

- RBUEEHE, EFITHCERRGELANTIC

- IBiIET1SO 9001IAUE, {EEiSHA

Vendor C:

- pricing is second lowest

- has been in business for 5 years

- performance data are not available and customer reviews look like bought reviews
- ISO 9001 certification was achieved, but has since expired

D

- SRR

- #itNE, BE—1MEFIEERE

- IERAT BRSBTS RS &R K

- AR REEIMRITS

Vendor D:

- pricing is lowest

- is a new vendor, but the first customer is very satisfied

- has longest time-to-order and time-to-delivery of requests
- has a Green Seal for sustainability

IEffg, BIEZMNENNERS, BESRWBEREER. BXOERERIVSHASEWHRREEN,
(XZ#Ek: A, 5165)

Correct. Even though this vendor has the highest price, it is the closest match to the sourcing

policy. This choice will ensure performance and stays within the corporate social responsibility

guidelines. (Literature: A, Chapter 16)

iR, &LNWESABN, MRZHNEARFERBWBRFATANEIATSEEN,

Incorrect. The performance of late is worrying and this vendor does not comply with the

corporate social responsibility guidelines described in the sourcing policy.

BiR, XRUMERVEERNEE. BIISOINEXIMESRELES, SABMR, RESAGRNMS

RAENAFEARNET AL NISREX R AN, B, XRENEAFEIMARBEBCR,

Incorrect. It is unclear what the performance of this vendor is exactly. The excellence that was

achieved for the ISO certification has not been maintained, which is worrying. There is no

compelling social or sustainable story to choose this vendor. Therefore, this vendor does not

fulfill the outlined sourcing policy.

iR, REXRANENERE, EITWAEK, REAEHK, NRESEEE, U ERBIZHNEET

EREFFEENEN, MXEREHEEFTRIERK,

Incorrect. Although this is a cheap vendor, the long time-to-order, long time-to-delivery and

the lack of performance data indicate that this vendor will not be able to support custom

changes quickly, which is a requirement in order to meet consumer needs.
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—RIREHTHEN AR ATHIE 7 LU ERRE:

E3FR, Bl EHE DGR LAF50%, HEEERS FIIFNE LA FIIE,

ZH1, HBRERORTERRE. W, TENFESENNL EEEMIRSS, EEEEESEN L
DEHERGAITE.

FRBINESREFMIATIE, IR,
XE— M IRERIILED?
A company that offers a new ride-sharing app has the following organizational strategy:

Within 3 years, we want at least 50% of the market share in ride-sharing, with at least a 4-
star average rating of consumer service.

Currently, consumers are complaining about the billing process. Furthermore, competitors
are creating new services on their websites by making it possible for consumers to share
online reviews of the ride-sharing experience.

The development team wants to work on the website first, because they feel that this is a
smaller project.

Is this a good choice?

A) B, BRAIRFFIIFRITHLARESTIBDER,
Yes. The competitors' actions must be followed closely to keep market share.
B) 2. EBAMAAKIER—VNEER, ATLUSHIIEAMNE.
Yes. The team feels the website is a small project, so it will add most value.
C) TR. BRIBERENMSERERIHIE.
No. The billing process should be brought in line with the consumers' expectations first.
D) 7~=2. BAN—oAZ, LAMBEiIeTLARBIRRRFA M),

No. The team should be split into two teams, so that they can work on both problems.

ABER7e, ETF—R
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iR, REX—EARERR, ERNZIRESERERF, MNSTTFLRR,

Incorrect. Although the statement is true, the complaints of the consumers should not be
ignored and they should be addressed first.

HiR. BIERUERE/NGIE, HNHREARIEE, At EERKIME,

Incorrect. Even if the website is the smaller project, the largest problem should be addressed
first to create most value for the business.

IEff, FAPAETRR, XMEMRUTESHEERRE (EMSEHmnink) MEEERSTFNT
B, RERHORENEEAS. XMASEARE. (E: A, $175)

Correct. Users are complaining, which most likely leads to loss of customers (and thus, loss of
market share) and loss of rating for the consumer service, since complaints are not taken
seriously. This is in line with organizational strategy. (Literature: A, Chapter 17)

HixR. RNTTREMNKEREE., RFRETT—ME, —FHEATRM. Fo—EFREFNFHF
KEAEZABEER.

Incorrect. It is never wise to split a development team. It is better to focus on one thing and
deliver that in half the time. It is also not wise to split up a well-functioning development
team.
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RiimER A DRERE 1 SFRNTZRERTUSNERNSE. ATNSRSERRESEKE. &
BRIFEESESENEINRFNFEEERIEF.

RS, REBAILT LA 47" BHrERAIIARR:

- TEETHTRIEIRRIF AN D B HIERR

- IEREARFTEEAT PRGN, BT EVEEFRBNLN, SRE—RERRRRET .
- EEEANREPFIME

- FSARAREZ THERGRIS), SRETREHR

SABKIR, AFERE T —RAEBUSTERISEFIF, tiEEN F—RAEER%E S E]
Gif. EFRBHEEXRIGEHE.

SRIREF NG R AT AR ?

A market research company wants to be an international leader in research within 15 years.
The strategy is to focus on growth. Management is preparing a promising merger with a
competitor which is located in another country.

Meanwhile at headquarters, the following issues impacting the Produce stage have been
identified:

- gaps in compliance with the new data protection regulation

- data collection systems need major upgrades to remain competitive. Due to enterprise-
wide testing, a large bid was recently lost

- the budget for the coming year is not clear to the managers

- a number of researchers have been trained in using new software, and as a result they
missed deadlines

On the bright side, the company has received a 5-star rating from a large government
organization which also promised to do their next large research with the company.
Customer satisfaction is at an all-time high.

Does the current Produce environment support the organizational strategy?

A) A2, ERNHFARMERMRASTERME 8
No, because testing the upgrades and working with new systems are seriously impacting
productivity.
B) ~2, BB KEETHEIERIFIENR.
No, because compliance with the new data protection regulation was not completed on time.
O i, ENEF#REERES, BFEERSIIEE.
Yes, because customer satisfaction is high and the government will do business with them
again.
D) 2, RAGFESEITIEILIR £/ MERSHISER.
Yes, because the merge preparation ensures that the Produce stage is in line with the strategy.
BHERTE, TR
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A) IEHs. WHFAIFHERANGIMEXERNEF 8], TR RIRIFRMFEE REHR, XASZRHE
KAVSKER BT, IXARERIAREEHIFAXA B Es S TERIETHI KT AR RIEE. (X
mh: A, FB17.15)

Correct. The testing and the upgrading should not impact the productivity the way that they
do right now. Losing a tender and not meeting deadlines are major shortcomings. This does
not support the strategic goal of growth. It may be an indication that change control and
related management processes, or the supporting tools, are not performing at the expected
level and warrant revision. (Literature: A, Chapter 17.1)

B) (&R, FRBANTIIRIZR TN, REBERTTHK. XENTE, EERNEBERINAW, URigEE
NES SN v TSR
Incorrect. It is nowhere stated that the implementation is not finished on time, it just has not
yet been finished. It is an issue, but a much larger issue is losing a tender and not meeting
deadlines over testing and implementing new systems.

0) HiR. ERHEERSURRMHTE, EHTEERRISIRKBAN R IZ S R AR FISSIAYE]
H, XERERTESHHEAANE KRR,

Incorrect. High customer satisfaction may be something good, but it does not take away the
problems of losing a tender and not meeting deadlines due to testing and implementing new
systems, which point towards not being able to support the growth strategy of the business.

D) iR, REGHESIIFRMRIBHEN "7 MR, BFEERE, TESSHE, "E£7~" MR
IR SEIRAERT. EADIT, RIRKMIAS BT &GRSR E T ESHF R AR IRER,

Incorrect. While preparation for a merger does warrant looking into the Produce stage, it does
not automatically follow that when preparing a merger the Produce stage is always in line
with the strategy. In this case, the loss of the tender and not meeting deadlines point towards
not being able to support the growth strategy of the business.
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1 C 16 B
2 B 17 A
3 C 18 C
4 A 19 C
5 D 20 B
6 B 21 B
7 D 22 A
8 D 23 B
9 A 24 D
10 C 25 B
11 A 26 A
12 C 27 A
13 B 28 A
14 D 29 C
15 A 30 A
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